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CHILD DEVELOPMENT AND PEDAGOGY / a1y e oo

Directions : Answer the following gquestions by
irec : :
selecting the correct/most appropriate option.

Which of the following questions promotes

critical and creative thinking in children ?

(1) Which can be the best way to save water
and why ?

(2) Where does water come from in your
city ?

(3) How many states and how many capitals
are there in your country ?

(4) What is the name of your country and its
geographical location on the map ?

What 1s

thinking ?

(1) Evidence should be evaluated in 3 logical
and systematic way,

(2) Ewidence should be
analysis.

1.

the role of evidence in eritical

accepted without

(3) Evidence is irrelevant to critical thinking. s -
(4) Evidence should be ignored in favour of e :
: ( 1 o o gomr .
personal opinion, ; ¥ ?ITH:TEIT%TT{ s H1 39
. _ S
What does inclusive education entail 2 £ 3./ HAEY faen o T 9N 2 2

(1) Standard curriculum for all learners
(2) Segregation and calegorisation  of
students on the basis of their abilities
(3) Provisioning of only vocational education

to learners with special needs
(4) Flexibility in the curriculum as a result of
recognition of individual differences

4.
Read the following statements and choose they _/

correct option :

Assertion (A) :

Jean Piaget and Lev Vygotsky differ in their
perspective on the influence of language on
cognitive development in children.

Reason (R) :

In discovery provides

learning, teacher

opportunities and students derive information |

for themselves.
(1) (A)is true, but (R) is false.
(2) Beth (A).and (R) are true, but (R) is not
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the correct explanation of (A).
(3) Both (A)and (R) are false.
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(4)

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).
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5.

(4)  accommodation; modification

s

Which of the following set correctly mentions | 5.
the characteristics on which students who are
gifted typically differ from other students in
the class ?

A. Advanced depth of understanding

B. Fast pace of learning
¢. Higher dependence

understanding

on  others for

P-11/K

fFrafefad § & Fma mr = e
Hﬁaﬂﬂaaﬁm?muﬁmm?ﬁfwﬁw
3 e 1§ = faarfdei & = swdt o i

g & ?
A, HEH 1 AUGE! TR
B. #iEd i a7 nfa

C. "3 % fou gedl w s fnfay
D. i faem & 39 1fy

! 1d physical development

_ghaume correct option ; waﬁ faweg & e Eﬁ'ﬁ“{ -

(1) A,BandC (1) A, B3WC

(2) BandC (2) Bac

(3) B,CandD (3) B,C3MmD

(4) AandB (4) A3NB

Which of the fn[]:}wing statements is correct in V HIT =il & H?ﬁ b ﬁtl%ﬁﬁ’?l o # FHE
the context of hearing impairment ? FT TE B 2
(1) Hearing impairment can affect a child’s (1)  Hau YT 5= & Y9E 27 4§ HaE H

ability to communicate effectively. F1 @A w1 gy el B |
(2) All children with hearing impairment (2) |l ggur aTfaa 9 =1 % H@aE e
e e e % o s /e daw
; 39A A il AEIIHAT B 2 |

Hearing impairment of a child can be
reliably tested by making loud noises
near the child.

Hearing impairment is always due to a
physical problem with the ear.

3)

(4)
In the context of inclusion, curriculum
learning expectations are the samein F
while in , they are different.
H.} enrichment; acceleration

{2) modification; accommodation
fﬁ) acceleration; enrichment

SI
According to constructivist theorists, which of
the following statements would nof be
correct ?

(61 Knowledge is subjectl\'e
@) Learners construct knowledge in their
~ Social and cultural context.
(3) Learners need to be extrinsically
~ motivated to ensure effective learning.
(4) Knowledge is pluralistic and multiple.
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10, Read the following statements and choose they

11.

(4)

o/ Fresfrfian & 4 e i FEBCT

P-1I'E :
9. Which of the following is an example ofy
intrinsic motivation ?
(1) Completing the project (o impress the
teacher
{2) Playing a musical
personal enjoyment
{3) Studying to avoid being scolded
(4) Participating in a competition for the|
prize money

instrument  for

correct option :

Assertion (A) :

Teachers should work hard to break down
students’ stereotypes of particular ethnic
groups.

Reason (R) @

A key educational objective is to enable
students to engage in critical self-reflection.
(1) (A)is true, but (R) is false,

(2) Both (A) and (R) are true, but (R) is nof
the correct explanation of (A).

(3) Both (A) and (R) are false.

{4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

What is the difference between mastery goals
and performance goals ?

(1) Mastery goals are focused on .avo:'ding—“/ 0
27

failure, while performance goals are

focused on gaining approval and

recognition from others.

(2). Mastery goals are focused on improving
one’s own skills and understanding of a
task, while performance geals are focused
on achieving a high grade or receiving
external rewards.

(3) Mastery goals are focused on gaining
approval from others, while performance
goals are focused on avoiding failure.

(4) Mastery goals are focused on achieving a

certain level of performance for
competing with others, while
performance goals are focused on
improving one’s own skills and

understanding of a task.
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12. gibling relationships :

13.

4.

Wl&' years have some difficulty in picking

"U} ﬁwalapment of language IS totally

(b

(1) are different than relationships with

parents and peers angd pj ay an important
role in socialization

childhood.
are similar to rel:

throughout

ltl{}ﬂ‘:hl].l‘s with parents
and peers and play an Important role in
Mla];:r,atmn throughout childhood.

(2)

play an important role only during
childhood.

(4) do not have much role in sacialization.

(3) early

Read the following statements ang choose/the
correct option :

Assertion (A) :

Considerable ATt
developmental rates among children,
Reason (R) :

Developmental differences are an jnevitable
result of complex interaction of genetic and
experiential variations.

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

variations 3

(3)
(4)

Wlm:h principle of development is illustrated
in'ﬂ“-’"foiluwiug statement ?
'Chﬂdmn who are deprived of a conducive\
environment for learning language in their

later in life.”

. on genetics.

language and cognition are complexly

interrelated.

@1 m"'°1°l’lz'n=uﬂ;
g able.

.:Z is a sensitive period 0

js  disorderly and

f language
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15. Students S : feramn s w2 % fmu
(1) by encouraging them to study in multiple ti} o, |5IEB_. o
distractions. \ YicETEa wrek | . I
(2) by providing higher grade level reading (®) . F9 UE W + ga4 ug e T
texts 5 01 & fom @&
‘ NBY Huwiers gaq giafeEd
(3) through use _"f strif:t punishment to == ¥ Tqam & i
ensure corrective reading. {;4} i ¥ wrem P |
(4) through systemic phonological training. b AT ea=reh A
_1}/ Sy.anaf fager w0 idfEd  HE
16. The underi?'lﬂég 1 l-"i'incipleh bel'offf. fvam 2 fr
- tanding-based teaching’ is the ie _ s s
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(4) learners know little and teaching involves % fore 7=l i |

transmission of facts to students,

17. How can a teacher help Aman who hY
struggling with complex problems develop

problem-solving skills ?

(1) Encourage him

generate ideas

to brainstorm and

(2)
(3)

‘Tell him to give up on the problem

Discourage him from e
taking risks

(4) Provide him with the answers

xperimenting and

18. A conducive classroom e
learning in middle cl
L.

nvironment for
asses centres around

(1) fear of punishment and embarrassment

(2) “0-0perative learning

»
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19. Lev Vygotsky believed that development :

21.

(3)

(1) is discontinuous in nature.
(2) isan unfolding of genetic programming.
(3) results directly from maturation.

(4) results directly from social interaction.

According to Piaget, the four qualitatively
different stages :

(1) vary vastly across the various cultures in
the world.

illustrate that children’s
miniature adult minds.

(3) are dependent upon the genetic codes of

(2) minds are

the children.

(4) represent  universal  patterns  of
development of children.

Which of the following is a limitation of

Piaget’s theory of cognitive development ?

(1) It everemphasizes the role of language in
cognitive development.

(2) It does not account for individual
differences in cognitive development.

(8) It does not account for the role of
biological factors in cognitive
development.

(4) It does not account for the influence of
culture and social factors on cognitive
development.

Read the following statements and choose the

correct option :

Assertion (A) :

a Class VII teacher invites a
and a male nurse 10
these fields.

Every year Lata,
female maths professor
her class to discuss careers in

Reason (R) :

Gender differences are
acquired through society.
(.1) (A) is true, but (R) is false.
(2) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

‘Both (A) and (R) are false.

Both (A) and (R) are true and (R) 1

innate and not

(4) s the

(7
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environmental factors,

: (8)
5§ o} -
:’B In a progressive classroom, the students : 23. U= ‘J"T!_'_"Wﬁ'r;r RET H, ﬁ'l—}'ﬂ‘%ﬂi
¥ A. donot ask many questions, A 3—1{?-1?5 Tm:r e G
B. ask questions to the teacher, B. foues | v ged 3‘ I
0. ask questions to each other. C. Uhzm 4w q\;—ﬂ 2 |
D, ask themselves questions. D. =3 9 gyq qaq 3 |
ghuegg' the correct option : a8l faseg & w@ﬁ#ﬁm :
(1) BandD (1) B3hp
(2) BandC (2) B3kc
(3) B.CandD :2}! g, C 3R D
@}A, = : : 24 q%nmzrﬁhnﬁﬁﬁtﬁﬂﬁmﬁﬁ
24. Expectations assoviated with being male or\ ; F& A 2 3 5 rar
’fem&]'B are referred to as and these Eﬁé_r b
are learned ; m
I'i} 'géndér roles; throughout childhood and (1) St 9 W i & auft
- into adulthood SIS & SR qIAl o
(2) gender constancy: initially  during (2) 5'1'@" ﬁiﬂ?ﬁ; ?m‘l'{ﬁ femsTETa & 3
~ adolescence (3) i‘s_’rtqi?%aﬁm had HE el
(3) gender stereotypes; only during middle Al ; :
e childhood (4) :3'175'{ “[ci‘f’ﬂg,- &9 9 § gHfiF EIGEICEE ||
(4) gender bias; mainly during early ; F ZRA ) .
shildhood 2 e % wd G Frafrfea 3 @ wa ofewm
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consideration of ﬂiversjt:y'am_ung learners 2 (1) 3173 AT HEER Trfa T @?ﬁ
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A |
2) gfg

(2 Intelligence is not influenced by genetic 3 FARTE Fww § sfRa T Rt
r“ (3) 19 ::sts' are the only measure of (3) ﬂ'% Ll ‘-'ITE!%I% F'(’f':‘. ﬁ%ﬁﬁf} aiieor Bl
9
Y intelligence, _ USHHTA | # | _
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~ change over time. )/ Hhdl 8 |
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9)
2 .

ﬁ- Am@gr w#tltﬂ ﬁU help her Students develop
metacognitive skills. Which of the fnllﬁwingc
strategies would be most effective 2
(1) Providing frequent grades and feedback
. to motivate students
(2) -Enébﬂrﬂg'i_ﬂg students to reflect on their

own learning and evaluate thejp progress
(3) Assigning texts to students to memorize
and encouraging them to
information from the texthook
(4) Providing students with detailed and
prescriptive instructions for
tasks

repeat

all learning

correct option : -
Assertion (A) :

Teachers should ask students to identify their
own examples and non-examples of the
concept for strengthening the concept.

Reason (R) :

Thinking of examples leads to strengthening
of the concept while non-examples tend to
confuse the students.

(1) (A)is true, but (R) is false.
(2) Both (A) and (R) are true, but (R) is not

the correct explanation of (A).

(3) Both (A) and (R) are false.

fi? Both (A) and (R) are true and (R) is the
~ correct explanation of (A).

General principles of learning suggest that

students learn better if a teacher :

(1) first introduces the concept in Iits

symbolic form and then moves to its
~ physical form.

() first discusses what is not known to the
. student and then comes to what the
~ Student already knows.

@) first introduces the concept overall and
_ then moves on to the intricacies of it.

(@) first discusses the concepts 1n terms of

logic and reason and then grants

i
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(2)

(3)

(4)

ﬂ' Read the following statements and choose the\?ﬂ/ ﬁ"-‘-‘iﬁ'ﬁﬁﬁ FYAT ‘T%U q9T e T

a‘waﬁ’rﬁm

HTFYT (A) :
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et AT 7 2 |

(3) (AR EATATR]

(4) (A) 3R (R) ST Tl & qAT (R), (A) St T
T E |

30. aiferm % " faga sad 2 fo faendff s

Opportunity to verify the ideas.
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TEe 39 W I H foEe s § foueff
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(2)

(3)

(4)
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fMathematics @

rt IT
i Studies/
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PART 11 / W1 I
MATHEMATICS AND SCIENCE / wfure & fasm

R : et yot & I

23 % forg @E w

Fug (557 T /|

Directions : Answer the following gquestions by

selecting the correctimost appropriate option.

81. A teacher in her class discusses warious 31.
examples from daily life situations like a
railway line crossing several other lines, a
road crossing two or more roads, alphabets
H.kt! ‘]’_1", ‘z: Et‘c‘ I
Which of the following concept(s) can be
introduced through these examples ?

A. Line segment
B. Transversal
C. Parallel lines
D. Right angles
Choose the correct option :
(1) Band C
(2) Only A
(3) Aand D
(4) Only B
Which among the following is the most
appropriate way to teach mathematics ? 32.
(1) Find the gaps in learning and address
them only
(2) Find the low performers and make them
sit in the front row of the class
(3) Teach every student with the same
approach

(4) Motivate the learners to develop their

existing capabilities

i = s wefe o F 80 O @ e,
A s79an s Feai #1 TR B 853 Uh qI,
7 =otaer S W, Z, 3 |
frffan # 3 e/l SEUTOT/EETETSH
%1 fter 37 IgrE© gra e o wehdl @ 2
A EEe

B. fids ad

C. THE &

D. GHHN

H&l fawes =1 =39 Fifvw .

(1) B3 C

(2) Had A

(3) A3 D

(4) #F49 B

S T B ?

1 wfrm § w® T SR T
3% A Hetfa s

@) ¥ o F A B v

(3) @ﬂﬁmmmwaﬁq@m

@) AR F 39 R i
Faehfer %t 3 fore, Sreenfem ey
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33. Which of the following is true for Continuous |33. e s SAE  Hedlhd  (CCE)

and Comprehensive Evaluation (COE) 2 Fe=ferfaa o & =0 ad 2 ¢ il
(1) In CCE, assessment process includes (1) T sfh = et #, stem ufE
assessmf‘-‘ﬂt‘ of previous knowledge, d 11—"' AH, HOFA & T n‘n st gl
understanding level and learning process. &1 A wimfeaa gen =nfee )
(2) For CCE, teac_hers feel that each one of (2) i 3 = m‘;‘ % oo, B
them has to give some home assignment HEHH &id & [ 390 4 &1 0% & 9= F
L .da:v' to assess children’s learning. AP e R T o B
(3) CCE is all about converting marks into ‘1’5-351'*5 'E’Fl'l EITFEU | T
grades. (3) fIar 3f = geatHd HAA I H
(4) In CCE, there is more testing and less 3re 3 frafia ®0 & T H 2 |
s . (4) TRET o =s HeaiwA H, A=/aiEm
34, Which of the following is/are essential features siferes 2 3 foreqor 5w 2
of a concept map in mathematics ? 34, Frefefgs @ & ®AH 1| 0 oh sEgron
A. It represents a conceptual analysis of a wrfes 1 Aravas A #2 2
concept using contributory sub-concepts. A ¥ HAVEET I-FFURH] FH 3TN
B. They are directional, with arrows Th  HIYH * dufis favemn &=
showing which concepts are prerequisite fF=fm = % |
for which others. B. % dha faal & g oo 2 i g
¢. They cannot be used for diagnostic § f& wRAfl sEumomd feud  fau
purposes to identify difficulties in ‘Ef aufd & |
Jearning a particular concept. c. s fafme waumon % @ § 1= 7 w5
D. They cannot be used frequently as they q%} TEEE W ol FE IR AR
are very time consuming. uﬁaﬁ%%ﬂ{?ﬁfﬁmmm|
Choose the correct option : D. 8 SRS S A A ez
() BandD € FRd 999 =9 H ¢ |
Only C k) ﬁﬁ&q 1 =T HIT ;
(2) Only (1) B3R D
(8 CandD (2) *had C
(4) AandB 3 ©C :ﬂ*r{ D
il true about (4'1 A
35. Which of the following is not true a i %aﬁﬁﬁﬁfﬁﬁaﬁ S
nature of mathematics ? :rs'? % 9 E
(1) Mathematics at school level requires D Fﬁ‘ﬁ W o 3 B a3l
‘special aptitude in learners. SraTa B R |
(2) Primary concepts in mathematics are @ M A m-,—_qff:ﬁ SEUTE WHia d S
- abstract in nature. 2t & |
(8) Mathematics is based on deductive (3) T TR e T ST # |
reasoning. (4) ﬂﬁmﬂﬁﬁ]ﬁmmaﬁﬂﬂmﬁﬂﬁﬂ
(4) Mathematics is much more abstract and w3 s qEEEE ® S s I
hierarchic than most of the other subjects — Eﬂ@% %

which children learn at the same 886 e —
R RK | T & o forg e

SPACE FOR ROUGH wo




ess useful for elementary grade
nts as its assessment will be

f‘ullnwipg’-' statements is neot

“should be related to daily life of the
- students. :
A mathematics texthook should have
solved examples only, :
- Atﬂmtﬁnkhfmathamamcs should not be
veqrﬁﬁ%karhéﬂvy ‘
A mathematics texthook should have
exercises to give practice to

ture in mathematics is -
Impartant atal | as it does not help in

OF conclusion that g
Ue on a tentative basis

the following statements are
the fol i snger o W
regarding “A{g_um.?,ntamon

be understood as a line of
i ﬂlﬂt intends to show or explain

with regard to a mathematics |

mples in a mathematics texthook |

(12) _ y ¥ dey H
36, T #t wan # “ah-faaeh

38.

‘SPACE FOR ROUGH WORK

37.

[T% w1 % forg wrg

E

Fasferam i 2 173 o 9 € 7

A T aH H uh 9fe $ &9 H T
m%zﬁﬂsﬁ@ﬁmﬁﬁzﬁ?lm
e S faed 1 7
nfora # gegTR #eT 2 | _
usnrﬁmmﬁ?am'ﬁm‘“‘ﬁ
Uk & B Hehal 8 | ._
YRfis wen & faaifdal % g I8 FH
Tl 2 e T AT Hied & |
a8 famen =1 = Fifaw

(1) A3 C

(2) B3N C

(8) AN B

(4) AIWD

Fefafes 4 & #mw ®@ abm H
YI3-950 h Hau § " 727 2 7

(1) TV 1 I % ITeIoT et 3
3 e & grafm 719 e |

UF TG ] 9Teg-gEs § Fael wl v
B ETE FH R | L

Bt =ifEw |
(4) ﬁ‘aﬁﬁﬁ'mméﬁ'%%qw&aﬁ

| Al
ﬂﬁﬁﬁmmﬁ'ﬁ{: |
1) foega Wt qewag

ag fawfam
% fasits

B.
C.

D.

(2)

(3)

TR 2 Wi TR iy

*ﬁﬁ“ﬁ?ﬁaﬁ?{m%l

! mﬁ@é%aﬁmaw

(8) aw mWeAftw W % Fenfi ¥
HEw 2 | P2

(4) mwﬁaﬁmﬁﬂé%ﬁrﬁm-m%
U STEATT S9R T He qET Sy &

(2)




JR—
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39.

The statement “1 less than or 1 more than a
multiple of 6 are prime numbers” is an
example of :

(1) Generalisation

(2) Theorem

(3) Conjecture

(4) Axiom

A mathematics teacher posed the following
problems to her students :

A. Simrat pays I 60,000 as rent for three
months. How much will she have to pay

for a whole year if the rent per month
remains same ? '

B. Cost of three dozen bananas is T 45.
Calculate the number of bananas that
can be purchased for T 12-50.

Joey and Jenny are going to school. Joey
started walking before Jenny. When Joey
was at the third block, Jenny was at the
first block. If both are walking with the
~ same speed, then where would Jenny be
if Joey is at the ninth block ?

Which of the following is correct with respect
to the above three questions ?

(1
@

Only A is based on unitary method.

B and C are daily life problems based on
unitary method.

A and C are daily life problems based on
unitary method.

(3)

(4) A and B are daily life problems based on

(13)
39.

unitary method.

40.

P-IUE
ﬁmf“ﬁ%ﬂ“ﬁﬁmwmm.ﬁwm@
WAL uh o vaEm ¥
(1)  A=fra
(2) WUy
(3) THraraat
(4) afiErda
v 1 uw fges s fafdE % gue
A fma @9 wfn % 3 F wv d
T 60,000 7t 2 | Al T wdA F
e @ @ A & fow s| fee e
1 &I 2
# 23 Foll il FHA T 45 B | TEFEe
#ifsm & 7 1250 ¥ fra & @lie
HHd & |
C. W% R S A W@ A | E, R
TES Wedl YE Bl 2 | 9 W1
&A% UL 91, 99 S 9B st WA |
Ife ZHT $1 e H T S 2, 91 99
3 A1 seATe U BN a9 S el arft ?

TR dF wE % god § feafafed ¥ @

A1 &l & ?

(1) Hae A T fafe 9 et & |

2) B 3t ¢ wwers fafy woamafa 2
g 1 T B |

3) A 3 ¢ wHes fafy w osmriE 2R
Sfre= &1 gEE A |

(4) A 3l B wHES fafy w ematf@ 36w
e 61 g 7 |

i & Rl L e’ e
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42.

45.

(14)
P-IVE
41. The area of a rectangle  whose sides are
176 cm and 56 cm is equal to the area of a
circle. What is the circumference (in cm) of the
' 22
Gj_ﬂ:le ? (T&kE" K= —7“ )
(1) 396
(2) 352
(3) 440
(4) 308
42. The cost of painting the surface of a solid
cuboid of dimensiong 40 cm x 36 cm x x cm at
7 20 per 100 cm? is T 1,032. What is the value
ofx?
(1) 20
(2) 15
(3) 24
(4) 12
43. PQRS is a quadrilateral in which PQ = PS and
~ RQ = RS, Which of the following statements is
true about this quadrilateral ?
(1) Its diagonals are equal.
__!:2] Its diagonals are perpendicular to each
other.
(3) Each diagonal bisects the angle at each
vertex.
(4) Its diagonals bisect each other.
44. ABCD is a rhombus in which £ ADB = 25°
Then, the value of (2 # BAD — £ ABC) is :
(1) 230°
(2) 240°
(3) 210°
(4) 260°
45. What is the mean of the mode, median and

range of the data given below ?

17, 8, 11, 13, 9, 14, 10,11, 16, 23, 15, 7
(1) 13

(2) 125

(3) 135

(4) 12

: 3

el sTEa #1 9%, ngﬂ‘ e

56 om &, T g1 % Wﬁéﬂﬁ? i
gftftr (em#) PR ? (= —

(1) 396

(2) 3562

(3) 440

(4) 308

ﬁmﬁdﬂcmxSchxxcmaTﬁﬁmw

eﬁ‘iﬁé‘ﬂﬁ?muﬁrmncmﬂﬁaﬁﬁfﬁm

£ 7T T 1,032% | x5 HH R ?

(1) 20 )

) 15

(8) 24

4) 12

PQRS UF =A%,

RQ=RS # | 38 Jg4¥

HIH-E1 FYT GA B ?

(1) 5% famol que 2 |

(2) U 0 [OR a9 8 |

@) T faEd yoe SiW W Hm
wafgwifaa & # |

(4) T Taspol et wmigfem i # |

ABCD Ts Ga=qy+ 2, fmd 2 ADB = 25° ® |
T, (2 2 BAD - 2 ABC) &1 | 2 :

i PQ=PS 3N
5 it 5 Frfefaa @ @

(1) 230°
(2) 240°
(3) 210°
(4) 260°

i fau Mo siwS F aEes, e i gfww
1 ST &1 B 7
17, 8, 11, 13, 9, 14, 10, 11, 16, 23, 15, 7

(1) 13
2y 125
(3). 135
(4) 12

SPACE FOR ROUGH WORK / 7% & & fere wmTe
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46. If x= J198x 550 and y = 359 . ¥363. th : P
2, Wen 44, Hﬁ: X-= 1GB & JEER ad S|
7 (s [ . VvB50 3T v = %99 . Y363 2
— +— isequal to: o = V| V363 B
LI W+ R,
— ".P i
(1) 001 : e
= ]_ H
g
(3) 0-33 e
@ 01 (3) 0:33
4) 01

47.

If p =(12:34 x 10'°) — (5:67 x 109, then ey
expressed in standard form as -

(1) 11773 x 1011

(2) 1-1773 x 1010

(3) 1:773 x 1011

(4) 1773 x 1010

-1
By which number should ( - %J be multiplied

so that the product is the reciprocal of

L

47.

48,

Elﬁ p =(12-34 x 101% _ (567 x 1(}9-]%‘ i pw‘
A ¥ 8 e gr o f e 2

(1) 1-1773 x 101

(2) 11773 x 1010

(3) 1773 x 101!

(4) 1-773 x 101

=1

&ama(_i’] F1 o e e s

HREED (— g]_] &1 ek 7l 2

(1) —
16

(2) —

Mg 313632 = p2 x q° x r* B, FE p, q YT ¢

49.  If 813632 = p2 x q° x r%, where p, q and r are | 49- dE =P .
- = 1 = 'y J')
Prime numbers, then what is the value of wmﬁ* a1 (p+q—2r) 1 HH 991 &
(p+q—-2r)? (1) 8
(8 @ 17
(2) 7 ]
3) 9 @) 9
4) 8 (4) 6
-________—-'—

N =
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_ r 53. &1 AB W U fag p fum R aw pQ wE T
=6 T R T 2 QPA = 7x 30 QPR =5x2 |
=, (8x — 10°) &1 0 2 ¢ :
(1 118°
(2) 110°
(3) 140°
(4) 102° ‘

54- | **’mp‘;’“ side PQ of a triangle PQR such |54 {1 T PQR 1 ¥y pQ W S E Ty W
_-___*—‘_QS.I.F/_’QPR=1.; et qFH For e :

of (2 2 PQR~ Z PRQ) i 5 ithen ey s | % f5 RS=Ps=Qs ® | 7

5 e ! ;Q_PR'= 15° &, @ (2 2 PQR - £ PRQ) 1 7H

(1) 50°

@) 60°

_ i (3) 45°

.s‘hﬂplsgeper sells item A for ¥ 384, (4) 75°

g oeniof 20% and iwhen he sells[55. 515 T 3 0 qEq A T 384 T AR, A

?'@[}, then there is a pmﬁt.ﬁt.-__::’-’l-‘l : .*..';-__- I8 20% aﬁ’[ E'Iﬁ Fft 2 3ft o =98 99 B =
‘ % 400 W A= &, A1 IH 25% FI AN A B

i 2| g a8 21 aE T fommm T 852

W, @ e e /ER wfersra 4 & 2

' (1) @™, 65%

(2) =, 5%

5% }
. (3) ®H, 1%
12,000 to T 15,972 at y e
; amounts to T 15,972 at a @) o, 5% :

| _ 2 e 12,000 %1 s afey Feht fafzer e i
est is compounded half-yearly. | = @ W lliﬁ Wiz 15,972 2 ol #,

(1) T 15840
2 T 15420
@) T 15950
(4) T 14,520
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Re&d the gj;at.x.ements given below and choose 61.
the ﬂ,ﬂrﬁct option :
Asseﬁiﬂ‘ﬂ ﬂ‘U 5

gtomach produces hydrochloric acid that helps

Reason () ©

Dise;ﬁﬁve juices need an acidic medium to act.
(1 (A) is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) i8
not the correct explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3)
(4)

What does the term ‘nitrogen fixation’ mean ?
(1) Conversion of nitrogen compounds into
gaseous nitrogen

Conversion of ammonia into nitrates by
the bacteria present in soil

Release of nitrogen present in dead
organic matter back into soil
Conversion of atmospheric nitrogen to a
more usable form for living organisms

(2)

(4)

At which of the following positions does a
gpring have the least potential energy ?
(1) The spring 1is neither compressed nor
pulled out and is lying on the ground.

(2) The spring is compressed to the minimum
~ and is lying on the ground.
(3) The spring is compressed to the minimum
and is placed at a height.

(4) The spring is pulled out to the maximum
~ and is placed at a height.

Identify the set comprisin
(1) Lizard, Parrot, Dolphin
(2) Pigeon, Humans, Lizard
@ Snake, Frog, Cockroach

63.

g cold blooded

of units are used

Which of the following pairs 65.
ﬁmmﬂg the same physical quantity ?
(U‘J ‘&m!s{ Nm

(2) kgm%s?, Ws

@ kgm%s?, J/s

P-IE
gjqﬁ‘rﬁﬁﬂiﬁﬂ:ﬁ ® ufqu am w9 fwen
P (A) :
AT F
s & 95
7% (R) ;.
qraeh @i

i TRl HA 8 | =

mim * o sreim mem 6

1) (AT B, T (R) T # |

(2) 3 (R) SF T@ 8, 9 (R), (A)
ad s T8 R | o

(3) (A)TE B, T (R)FE R |

@ (A) T (R)EH & B 941 (R), (A) 1 TA
=TT # |

e AR I1eg S 7 2

(1) HTEesH AfrRi 1 NEE AseeE #
=T

+

(2)

@) kgm%s
(3) kgmfs*’*, Ws
(@) kgmish I
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P-IVE
68,

aose the

5 i aragraph and ch
Read the following paragrap suld fill

e set of words which w

option with th
en order.

the blanks correctly in the giv
from the

During fertilisation, the sperm cell
father and the egg cell of the mother fuse &
form a W which divides repeatedly to
give rise to a ball of colls. The colls begin
to develop into different organs and tissues.
This developing structure called __ X pets
embedded in the wall of Y . The stage
of X in which all body parts can be

identified is called

W, X, Y, Z respectively are :

(1) zygote, foetus; uterus, embrya
(2)
(3
{41

zygote, embryo, uterus, foetus
embryo, zygote, fallopian tube, foetus

zygote, foetus, fallopian tube, embryo

Which of the following reactions are noi
feasible 7

(1) PbSO, + Fe
(2) Al +CuS0y
(3} Zn+ CaSOy
(41 Mg + ZnS0y

67.

Which of the following graphs are straight
lines ?

A
B.

Distance — Lime graph of a body at rest
Velocity — time graph of a body moving
with uniform acceleration

Distance — time graph of a body moving
with uniform acceleration

D,

Velocity — time graph of a body at rest

Choose the correct option :
(1) A,BandD
(2) A BandC

(3) Cand D
(4] Aand B

67.

68.

= I|IZﬂE!
[Eifa

o 38 TR

co, Frefafan wgess ﬁaﬁ o <l ST

mafw;mwcﬁzﬂ}l
ﬁrnnn;sqﬂﬁ‘rﬁm i = -';-r
ﬁﬁmmumﬁmﬂﬁmﬁ’;ﬂ;;;]
;ﬁfﬁ;:;mﬁv% S e e T
mﬁmﬁﬁﬁmmaﬁtmﬁqﬁm 4
SR ﬁmﬁ?ﬁ ﬁf-ﬁagm:ﬁanu
_ I=e Fed £ 5 ’
a8 s 21X #aﬁaﬁmﬁm
Hﬂﬁmﬁmﬂm#ﬁqﬁﬁmﬁaﬁ
z{ﬁ'lﬂ'lﬂ_|
W. X, Y, ZH99: & ¢
i, Mo, e, Y

(1)

(2) WA, yoT, THIIE, T4

@ 7, 7, feaafed] it (e,
T

@) e, 1, Faate Aferhn (SfEETEA),

q
ffafas wfufeme § 8 S @
TET R 1
(1) Pb5S0y4 + Fe
(2) Al+CuS0y
(3) Zn+ CaS0,
(4) Mg+ ZnS50,
Fefdfes 8 4 ®=R8 o @ W (@
@) & 2

A, Tamm st | foees = el - ang ars

B. UREAH =W % g nfore feme w6
HT! gHY 0%

C. UHEHH o % " nfawe e &
T — gHE UTE

D. %Tmmqﬁ@mﬁﬂarq_;[mm

(1) A,BHRED

(2) A, B3C

(3) Cc3mD

(4) A¥WB
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69.

70.

(245

Densities of fou
given below -

Liquid 2 B C D

pensity (kg/m®) 785 820 924 1020

Based on this information, identify the correct

stﬂt-Ement from the following :

(1) An object that floats in liquid C may or
may not float in liquid A.

(2) An object that floats in liquid A may or
may not float in liguid B.

(3) An object that floats in liquid B surely
floats in liquid A.

(4) An object that floats in liquid C surely
floats in liquid B.

v liquids A, B, ¢ and D are|8H

Read the following statements and choose the g
ggrrect pption :

Assertion (&) :

Eiéct:ril: eurrent 18 a vector quantity.

Reason (R) :

Electric  current is a quantity having

magnitude as well as direction.

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A,

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

Which of the following cell organelles contain
their own DNA ?

A. Plastids

B. Mitochondria

C. Nucleus

D. Vacuole

Choose the correct option :
(1) CandD

(2) BandC

(8) A, BandC

71‘

4) A, BandD

P-1UE

<1t 781 A, B, C 31 D% wees 9 o omo 2 .

gd A B C D

gaea (femah?®) 788 820 924 1020

< A & s, frefaie 1 # TH FuA

1 A Hifs

1) wREEAE oA RTRE AT Gid
o} weraT & 3 98 |

@) TEfrm g Al za BN
ft ha & AT A7 |

@) e faem 7 g@ B ° AT 2 9R it w9
=g A Fom |

(4) v fae ot g ¢ H dn 2 A fiE w9
H 79 B # i 40M |

frffign Fodi #1 dfgw a1 9@ e w6

37fiHe (A) :

foreg m weh | T 2 |

7 (R :
gm T8 Ui & G wE g *

wra-ang Tz o ©

1) (AT R, T (R)TEE R

(2) (A) 3R (R) EF1 TE &, WA (R), (A)
T = FE R |

(3) (A)TER B, T (R)FA R

(@) (A) 3 (R)EFT HE) & a9 (R), (A) <R =&
=TT # |

frefefaa & & o S s § =E R

i
£ .

ST FAfae 8 ?
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72.

73.

74.

75.

(22

Which of the following statements about the |72,

cells of living organisms isfare correct ?
A, All are microscopic and cannot be seen
with a naked eye,

B. All have a cell wall.
. All have a nuclear membrane,

D. All have a cell membrane.
Choose the correct option :
(1) OnlyD
(2) AandD
(3) BandC
(4) Only A
Select the set that correctly matches the type
of waste given in Column A with the
approximate time taken by it to decompose
which is given in Column B,
Column A Column B

Plastic bottle i. 2 —5 months
Silk scarf ii,
Cotton shirt iii.

1 — 2 weeks

10 - 30 days

L

&

d. Bananapeel iv. 4 years

e. Paper v. Several years

Choose the correct option :

(1) a-iv, b—v, e~iii, d—i, e-ii

(2) a—v, b-iv, e, d-ii, e-iii

(3) a-iv, bv, e—ii, d=i, e-iii

(4) a-v, b, e—ii, d—iii, e-iv

A feather of mass 15 g is dropped from a
height, It is found to fall with a constant
velocity. What is the net force acting on it ?

(1) Zero
(2) 147N
(3) 147N
(4) 147N

An ion X** is obtained from an element X
{atomic mass 27 and atomic number 13). The
number of protons, electrons and neutrons in
X is respectively :

(1) 14, 13 and 10
(2) 10,13 and 14
@) 18,13 and 10
) 13,10 anq 14

73,

74.

735.

"
=

fferfa ﬁﬁaﬁmmﬁﬁgﬂ*ﬁﬁ”ﬁm 4

FIFIAT % gay 4 wh 2R 7 5

A. Fﬁ@mﬁu[qm)ﬁﬁgﬁmﬁm
HAfat @ 7 Zar w1 gehal 8 |

B. @it ) iferenr fafa €l & |

C. Tt i Fhg R Bl € |

D. @t ) Fiforerr ol Al & |

et faeg &1 999 $ifsw :

(1) *ae D

(2) A3MmD

(8 B3RC

(4) e A

ﬁwwwaﬁﬁqﬁraﬁaﬂAﬁﬁﬂw
e (F=t) & g 1 Hiew B # f&T T

$9% g HEe 1 T FTel SN HAE h 1Y

aet g o gHfera = |
FITT A Ficd B
a. wifies HidEaag i 2-5 °R
b. Tl ®WE (TG ) il 1- 2 GHIE
c. HAl FHF () iii. 10— 30 f&
d. el &1 T iv. 499
. THITH v. 9% 99
Hel faspen =1 = ifsm .
(1) a-iv, b-v, c—iii, d—i, e-ii
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(2)

(280

Identify the set comprising plants that
produce bisexual flowers ;

(1) Cucumber, Papaya, Rose
(2) Mustard, Rose, Petunia
(3) Corn, Cucumber, Petunia

(4) Corn, Papaya, Mustard

{dentify the incorreet statement :

(1) Clayey soil is better aerated than loamy
soil.

Clayey soil is more fertile as compared to
leamy soil.

(2)

Water retention capacity of clayey soil is
better than that of loamy soil.

(3)

The particle size of clayey soil is much
smaller than that of loamy soil.

4)

Which of the following substances are present
on the ruhbing surface of a matchbox ?

(1)
(2)
(3)
(4)

Glass powder and red phosphorus
White phosphorus and glass powder
Red phosphorus and magnesium :
Potassium and white phosphorus
A  and B secrete their hormones

when they receive orders from gland _ C .

Which of the following can A, B and C
respectively be ?

(1) Pancreas, Adrenal glands, Thyroid
(2) Thyroid, Adrenal glands, Pituitary
(3) Testes, Ovaries, Thyroid

@) Pitvitary: Parireas, Thyroid

The image formed by a pinhole camera is real.
Which of the following statements offers a
suitable explanation for this fact ?

(1) Light diffracts on entering a small
opening.

Light travels in a straight line.
Light is a form of energy.

Light changes its path when it travels
from one medium to another.

(3)
(4)

76.

7.

78.

79.
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RER 81.

Identify the open-ended question from among
he following : : |
(tf}e Why can humans not digest cellulose 7
{Ej What is cellulose made of 7
(3) What would happen if humans could
digest cellulose ?

B1.

(4) Name any five organisms that can digest [go,

cellulose.

82. Which of the following is/are true about tllw
curricular practice currently being followed in
schools 7 ‘

A, Science and Mathematics are
taught integratedly as ‘Science
Technology’ in elementary classes,

B. Physics, Chemistry and Biology are being
taught integratedly as 'Secience’ in
secondary classes,

C. Science and Social Science are being
taught integratedly as ‘EVS’ in primary
classes.

Choose the correct option :

(1) BandC

{2) AandB

(3) OnlyC

being
and

(4) OnlyB a8,

83. A group of students is engaged in an activity

in which they are measuring the boiling

temperature of ordinary tap water in a heaker.

Which of the following is not a suitable

indicator to assess them on this tagk ?

(1) Pay due attention to the least count of the
thermometer

(2) Ensure that the thermometer does not
touch the walls of the beaker

(3) Measure the boiling temperature as
100°C

(4) Use a stand to suspend the thermometer

84. Tv’!}'hjch D.f the following cannot be considered

as a valid reason for including socio-scientific

1ssues (such as the GM food) in the school

science curricula ? :

(1) Develaps argumentation skills

(2) Helpful in cultivating understanding
about nature of science

(3) ngelnps the capacity to engage in

~ evidence-baged reasoning

(4) HEIpi_’u] In appreciating science as a
definitive discipline

B 3 3 e ’
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and plant both. The teacher then asks the
students which test tube would have the
highest concentration of CQ,, Which process
skill is the teacher emphasising in this case ?
(1) Predicting

(2) BEstimating

(3) Measuring

{4) Question raising

(1) These are an important value-addition to

@

3)

(4) Some of these enhance children’s
interaction with experts, teachers and
‘society at large.

Which of the following is/are ordinarily not

implied in the context of ‘Content validity’ of

Science curriculum ?

A ;Th&cpntent is updated.

B. The concepts are accurately represented.

C. The concepts are trivialised for some

~ learners.

Choose the correct option :

(1) OnlyB

m A:andB

;3:' A,_B and C

(4) OnlyA

{26)

After teaching the chaper ‘Respiration in
Drg,gnismﬁ’ in Class VII, a teacher performs
the following activity with her students. They
take three test tubes and fill 3/4'™ f each with
water. The test tubes are labelled as A, B and
¢. They put a snail in test tube A, a water
plant in test tube B and in C they keep snail

- Which of the following is nof correct in respect
of the activities suggested as part of ‘Extended
learning’ in textbooks ?

children’s repertoire of knowledge and
skills,

These form an important basis of
students’ evaluation.

Some of these require students to collect
information of various kinds and draw
conclusions on their own.

B5.

87.
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Which of the following can be considered as
8B. th most Huitﬂblﬂ rationale for team teaching 9
E %
(1) It is an effective strategy for large sized
clasges.
(2) It benefits the students with diverse
expertise.
(3) It makes the task of assessment easier.
(4) It is helpful in increasing student
participation.

Which of the following would be the most
guitable activity to introduce the concept of
image formation in spherical mirrors in

Class VII students ?

{1) ‘Students are asked to observe their
images at various positions in a plane
mirror,

(2) Students are asked to play with shiny,
steel spoons and observe their images in
it.

(3) Students are explained the laws of
reflection,

(4) Students are explained the process of
drawing ray diagrams in curved mirrors.

Which of the following is nof implied by the

statement ‘Good science education is true to

the child, true to life and true to the

discipline’ ?

(1) Science education should help the
students acquire the processes of science.

(2) Seience education should build a link
between  the child ang his/her
environment.

(3) Science education should train the

students to remain disciplined in school.
(4) Secience classroom practices should be
demlopmentaﬂy appropriate,

(26)
B8,

89.

90.
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(8) Weekly markets run in both rural and

“ ‘Weekly markets are markets which are

P-1U/E

ﬂ (27
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ocial Science).

Part I

PART 111 / 91 11

SOCIAL STUDIES / SOCIAL SCIENCE (®mtfsies sgaas [ amafas o)

tions : Answer the following questions by |29 : TR 999l % 37 84 % form wehim=a
selecting the correctimost appr. opriate option.

310

Consider the following assessment question :

‘What are the ways in which people ﬂm\fy

icipate in a democracy 7 Following are
somﬂ‘l e answers that you get from students.

Which answer reflects the student’s
understanding of the question and hig/her
ahility to give a comprehensive ‘to-the-point’
answer ! :

(1) ‘Some key elements that influence the
working of a democratic government
are — people’s participation, resolution of
conflict and commitment to equality and
justice.’

{2) ‘Voting, dharna,
movements.’

(3) By voting in elections.’

(4) In a democracy, people participate by
voting in elections. All governments are
elected for fixed periods. In India this
period is five years.

rallies, social

I e 9T |

fafefaa yeara dadt wga w0 fasm Hifio
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(2)  ‘maed, g, e, amfEe e |

(3) ‘g § "agH g ||

(4) ‘Arad 1, @M 9A9 8 q9gE g anied
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gq%gﬁmﬁﬁlmﬁasmﬁ:tﬁ%aﬁ

1‘!

Consider the following assessment question :| 32 Frfafas qeaes sad w7 = fomm St

‘What is the difference between weekly
markets and shopping malls 7’
Below are some answers written by students.
In which answer does the student fail to
display ability of comparing/contrasting ?
(1) ‘The products sold in weekly markets
could be bought at cheap rates whereas
only a few people can afford products sold
in shopping malls.’ :
(2) ‘Weekly markets do not have permanent
shops whereas the shops in shopping
malls are built to last.’

urban areas whereas a shopping mall is
usually seen in urban areas.’

held on a specific day of the week
whereas shopping malls are
multi-storeyed buildings with shops on
different floors.’
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33. 5"“" s ot flat, then how .are maps showing

35.

* empirical and verifiable.

(28)

mdents of Class VI question that if they

gasﬂﬂt?

Whgt. will be the

tion 7
?S@Shamng animatedly how maps and
- globes) resemble our Earth
Showing the maps to the students

s Ask them to find out the reason

(3)
~ themselves
Showing the globe to the students

best way to address this

(4)
‘Read the following statements and choose th'i
correct option :

Assertion (A) :

Social Seience has a strong correlation with

Arts.
Reason (R):
Paintings, sculptures, prehistoric artifacts,
ete. represent proof of many domains of Social
Seiences.
(1) Both (A) and (R) are true and (R) is the
‘correct explanation of (A).
(2) (A)is false, but (R) is true.
(3) Both (A) and (R) are true, but (R) is not.
the correct explanation of (A).
(4) (A)is true, but (R) is false.
Read the following statements and choose the
correct option :
Statement A :
The nature of Social Science is evidence-based,

Statement B :

Its study often leads to
interpretations of a single event.
(1) Ais true, but B is false.

(2) Both A and B are false.

(3) Adis false, but B is true.

(4) Both A and B are true.

Rosy drew a picture of a woman as a nursg|
and a man as an engineer. On asking the
reason behind it, she replied, ‘women make
better nurses because they are more patient
and gentle, whereas science requires a
technical mind and women are not capable of
dealing with technical things'.
What does Rosy’s statement reflect ?
(1) Gender constancy
(2) Gender stereatype
(3) Gender typing
(4) Gender discrimination

multiple
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l To familiarise students  about election
ocedure in India, which one of the f'l:-lluwmg
nu]d be the best pedagogical method ?

Asking students to conduct survey in

their neighbourhood about election

(2) Organizing an election in the class for
class reprssentat.wes

(3) Screening a documentary on a local
election
(4) Inviting an expert for a lecture

a7.

(1)

b Pag
ﬁﬂﬁﬁmmumﬁmmmmrq
ﬁ'””qﬂm'%f‘ﬁm\,ﬁﬁrhﬁaﬂﬂqﬁqm
&W@MHWEFﬂ:

(1) T Hl I46 T=2W %

mm%‘“qﬂw d e Had W
(2) HE1 0 e wfafifed % faoogam

HTSH AT
(3) T FAE W gaf=E3 gwE
(4) ﬁﬁ%ﬁﬁiﬁﬁﬁm%w e n

38, The best possible practice for sensitizing | g / aﬂ'ﬁ-‘a'm1 s wEErE quEtE (s

students towards the life of tribals and
nomadic pastoralists would be ;

(1) screening a movie or documentary on

Bakarwals.
(21 lecture and seminar.

(3) a group discussion on tribes and nomadic|

pastoralists.
(4) textbook reading.

39, While students are engaged in a group
discussion on uses of water, a teacher should
use the blackboard in which of the following
manner ?

(1) Arranging responses
themes and issues.

(2) Noting responses of students who are
considered bright in the class.

(3) Listen to the students but not necessary
to record.

(4) Recording every word said in the
discussion.

/40, A teacher takes students of upper primaryy
classes to the District Court, after finishing
the lesson on ‘Criminal Justice System’. Which
of the following ohjectives is/are most
appropriate for the visit ?
A. To provide experience of the functioning

of courts and interact with lawyers,
judges and staff on the roles they play.
B. To show the challenges of seeking justice
and create awe of the system.
C. To scare students by showing difficulties
faced by those implicated in various cases
and encourage law keeping.
Choose the correct option :
(1) OnlyC
{2) OnlyB
B) A Band(C

around concepts,
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misconceptions about Social Science 7

A Itisa non-utilitarian subject.

B. Natural Sciences are superior to the
Social Sciences,

¢. It rewards memorisation of superfluous
facts’.

pD. The only job option open to students
specialising in the Social Sciences 1s in
academics,

Choose the correct option :

(1) A, BandC

(2) Band C

(3) A, B, CandD

{4) A,Cand D

Which of the following concepts (A to D L
should a child have prior knowledge about to
understand the concept of the Torrid Zone ?
A Longitudes
B. Globe
.C. Insolation
D. Latitudes
Choose the correct option :
(1) A, CandD
(2) B,CandD
@) A BandD
4) A BandC

Read the following statements and choose I;h{
correct option :
A.s'sertrlamm}:
The .ch&n;g'ehin' nomenclature, from Civics to
Polmcal.E:menae-was to bring back the focus
towards 1ssues of contemporary India.
Reason (R) ;
‘Civies’ appeared in the Indian school
curriculum during Colonial period against the

background of increasing dj
i . disloyalty
Indians towards the British Raj, g rmong

(1) (A)is true, but (R) is false.
(2) Both (A) and (R) are true, bug (R) ;
not the correct explanation of (A), A
(A)is false, but (R) is true. '
Both (A) ang (R) are true
torrect explanation of (A).

(3)

4)
and (R) is the

P

EiE
=

(80) i
Which of the following are the prevailing il/é':"'?ﬁ?? 0 | Firaaf smnfas fase B
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(1) A B3C
(2) BIRC

(3) A, B,C3mD
(4) A C3HED
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soh of the f:ﬂllm'n'ing
children to. critically
worlk in society ?
A, Asking students (o wijge slogans
emphasizing the importance of !.1ll. uality
petween men and women, gy

Asking students to ghserve 3
leisure time men un?rf{ H;(}::::l nl:ll?:r‘
respectively and to think about why that
is S0, i
Showing them data regarding how many
_glI']_ students get to attend schools and
asking them to talk about the impact that
might have on their job opportunities.
Choose the correct option :

(1) Aand B

(2) Only C

(3) BandC

(4) Only A

While takir}g a class on the topic of
‘Government’, which of the following questions
can you pose to students to encourage both
‘social awareness and critical thinking skills in
them ?
(1) ‘List out three differences between a
monarchy and a democratic government.’

‘What are the features of a democratic
government 7’

‘We saw how the pandemic had
disproportionately placed the burden of
healthcare on doctors and frontline
workers, Do vou think any protest
organized by them demanding better
working conditions from the government
is justified ? Support your answer with
reasons.’

You have been noticing for quite some
time that the area near your house gets
flooded every time it rains during the
monsoon season. You and your
neighbours decide that something has to
be done regarding this issue. Which level
of government — Local, State or Central,
would you approach if you have such a
_ grievance 7'

A teacher writes expected learning objectives

.n'l_l'Ti\'rIil-s would help
hink ahout women's

@
(3)

(4)

for her lesson plan as : ‘Students will be able |*

to compare a weekly market with a shopping
complex’. This objective will require students
to demonstrate their :

(1) Application

~ (2) Understanding

(3L

: PIVE
a4, frafafaa # @ wwadf ofafafu(al) == 5
auTa H ufactisl & S ] S AT
o famiaa a0 0 gz weft 22 7

A famfien & nfgenai a e 8 Fued
e gt wel 2a an A fera & feu e |

B, ferfda = 4 ffem w0 F fEw wE
s wfEenan = 11¢i'i‘i 5 M ey B
fapern wiEa &1 HeA fueen 2w T
A o fa=m @ R e e 2 |

o, faenfibai = srned & faemesn 4 ufeafq
gl el w1 femrn st gEE FHE
ant H == w6 e FE |

ol farspey w1 ==A Hifae .

(1) AFEB

(2) Had C

(3) B3INC

(4)

A
sgear & vy W oS o 994,

45.

5§ fpg g9 1 4@ N ESRATR 2 .

(1) TR SR drhdias BERR 6 FE F
i a7 geEg it | by

(2) qiep 1 a1 fafsrsean adi
.?P

3) ‘7 FE fR mRWd ¥ AN =R
] HAR FH
weegwial W fawm w8 S 9
w1 A foER H SEaT A w6l A
F1 TR BTN % GHE AR FEIH HAT
TS & ? A9 I F gueE HWO HiEq
it |’

(4) ‘o ww e 2 fb oWl ¥ A we

) Elluwledg_e

9T

(1)

(2) Toy (=)
(3)

(4)
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Which of the following assessment questions 18
i the most a ppropriate to test students

understanding and appreciation of Indian
federalism ?

(1) Write a brief note on the three organs of
the state — the legislature, the executive
and the judiciary.

(2) What are the three levels of l':ht'
government 7 What are their functions ?

(3) What do you think might happen if we
did not have any state and local
governments and all decisions were made
at the Centre ?

(4) Define federalism.

48. Consider the following assessment question :
‘Why does a democratic country need a
constitution
Which of the following answers given by your
students indicate a lack of understanding of
the question ?

(1) Student C: A constitution ensures that a
dominant group does not use its power
against less powerful groups.

(2) Student B : A constitution gives us a set
of rules on the basis of which a country is
to be governed.

(3) Student D A constitution usually
contains rules that ensure that minorities
are not excluded from anything that is
routinely available to the majority.

(4) Student A : A constitution lays down
rules that guard against the misuse of
authority by our political leaders.

49.  Read the following statements and choose the

‘correct option :

Assertion (A) :

A derapbook is an effective way of making

Students learn about the different types of

vegelation present in various regions of the

world through pictures.

Reason (R) ;

A seraphook must he assessed c'nn!
crapl : e v by the cost
of dlﬁere_nt materials used in it, :

Ei.l"} (A) is true, but (R) is false.

2) Eﬂ:htlim and (R) are true, but (R) is
. . ‘e correct explanation of

)OS s bt (B i s

1 / an are true and (R) is ¢
correct  explanation of (A). ) is the
50. What kinds of queg on

s

In order to test theip :
HELT Tact
(1) Knowledge of tery, c,nu;Lg:kiiwIEdge .
(2} !{Dﬂt\?]edge Qlf &
categaries classifications and

(3)  Strategic knowledge
(4) Knuwledge of subject

'spﬁtiﬁc Ski]ls

;

4{.//5&3@1&1»4‘1’ &1 ety warg f1 @He 2 I

50.

AL
k'
¥

L

=1 =)

st % foo frefufiga # & @E-1 HEArhd o
qaifis I9gH 2 7 \

F g s fawnfaE,
(1) TS & d4 3 e

AT
feafigu

it =rraaifeia] 9 _ -l
(@) A e % @A T HEA & 7 3
wE /A2 \ . .
(3) % feram H o A A Eh'mﬁg%ﬂ )
o WA s qel

ot ®aa e | fom I ?
(4) wEETE wl afrafye g |

48, /MR Tl frerferfign wed W fers b

Stk Sl 291 %) diae i e #41 Bl
27

frfefigd § & F9-a1 30t guiar & fh e

A 59 ] Ene A 2 7 | N

(1) faemeff ¢ : mfau =z gRfEEa w2
HS UgA TR AYH HHEl W AT
sifek &1 9401 4 H | N

(2) foemefi B : wfaum 76 v FrmEs < @
Forers e e ush 291 o7 I R ST 2 |

(& faemef D : wfaum 4 3 fam Gafes @
gfifaa s & o smawsas 36 ) of
i @ A A A W agEe # e
39 B |

_ q'crqimq I
fafirg & He \

P S e % o

(1) tA}E;ﬁI%,tr@tR}T_rﬁa%!

@) (A) 3R (R) 2 TE 3

; HT‘FIET@__T e 9= (R), (A) $

() (A)Td 2, W (R) &t R |

(4 (A) R (R) SF7 5 8 797 ¢ {
= ! B A1 (R), (A) i gt

(R % qeamenes s SV
bl _hmmﬁg?ﬁmmﬁ"“m

‘U 1 AH
(2)  =fiETon 3t Sfor
(3) I

(4)

——
i“'i'f_ 1%



(2) Tropic of Capricorn
(8) Aretic Circle

(4) 'Tropic of Cancer
Choose the correct statements about the globes
from the following :
A. Longitudes and

o,
C. Ttisa true model of the Earth.
D. Itisoval in shape.

(1) B,CandD

(33)

It Greeﬂ“’ifh Meridian Time is 12 noon, then

hat will be the time at 45° Fast I"'ngilude ’ y
1) 9 p.m. '

Y, 9 p.-m.
{3) 10 a.m.
4) 2p-m-
Gea caves are formed in coastal areas. Select

suitable reason for formation of sea caves :
§H) Erosion and deposition by waves
(2) Wind erosion 5 '
(3 Man made activity
(4) Falling of rocks
Nﬂtllral vegetation varies from place to p]ace.
Wh.y dg evergreen irees grow near @quatoriﬂl
on !

Choose the appropriate reason from the
following :
(1) Moderate
~ rainfall
(2) Heavy rainfall and high temperature
(3 Low rainfall and high.t,emperature
(4) Moderate rainfall and low temperature

Consider the following statements about

temperature and moderate

_53:

P11/
51,/ afa fifia A T 29 ¥ 1239 F B, A
N gme G Zurar wn e @R AT 2

(1) & geia

(2) 4 EA I

@) 10 @ gEiE

(4) 293 IUE

afmaaﬁﬁqg?firﬁﬁw«ﬁﬁmqﬁqrmﬁix
ﬁuim%‘ﬁfﬁn.:{qgﬁﬁaﬁﬁm'ﬂﬂﬂq;ﬁﬁiﬂ.:

(1) i g SR uE

(2) TEA 3G

(3) e fafde nfafafa

(4) et 1 fre
wﬂqﬁﬁﬁﬂﬁg@mmﬁmﬂﬂmﬂ?
ﬁm%iwmaa,sﬁm?ﬁm%mﬁ
i Ima B ?

frerferfiga ® H . ZHR0] < = I
(1) ~TEd aaEH He a9
(9) ) aut {1 IS A

(@) ﬁﬁaﬁfaﬂfﬁﬁm

latitudes. Which of the following is correct ? o ot 2

(1) Arctic Circle is at 2331% north of theX B4,/ s a;ﬁ-:lﬁ,{ﬁga o i i
;equatm'. 2 I q_ﬁ - % ?D i

(2) ’I"ropiE: of Capricorn passes through @) aﬂ'{.g‘qﬁq B forgsra il F 235 I ﬁ
southern hemisphere. . ' feurm 2 |

(3) Antarctic Circle is at 931 south of the () weRt T e iremd & Bt T 2 |
equator. 2 ) feoLgdr g fagea T % 23] o

{ﬁ Tropic of Cancer passes through southern i fem 2 | 2
hemisphere. (&) 5% T e wemd @ A TE 2

An imaginary line drawuunaglobemdividiﬁﬁ-_ TS F g suet qE A H’hﬁ%ﬁﬂ@?iﬁ LIS

el Sl & |

it into two equal parts is known as the

n .Equatu;'

latitudes are drawn on

the globe.
It is tilting on its axis.

Choose the correct option :

(2} A,BandD
B Ac :Ed D

FHeqtE @l Hl
(1) fogaa @

2) m;;;

(3) InLgdd™ 99

(4) e @l :
EG;/ ‘ ¥ 3 TS En § dE B H

A o T ST S et g TE |
B, 2 A ¥ W g g FEAHAE |
C. @ ge H anEtas SioEd 2 |

D. ¥ HEEH AEHA AR |

4) A, BandC

o8 T w1 99 ST
(1) B,C3MWD
(2) AB3MD
(3) A,C3MD
(4) A B3IWC



(:34) : ot warS IEM ISH 3 i
Bell/E for Mying g7, HHATIHS i qmi < ehifan, |
here has ideal conditions 10 feru, afresl B & | w1
57, Stm;?:ﬂcﬁ Chooge the correct TeAsSON (1) 3= 919 g1+
aero
(1) High air pressure (9) e = G o
il rhdnt e d related weather (3) ®gel g FﬁHTI gai ":T?_'ﬂw g) Eﬂ_
(3) fFree from clouds an (1) st areh hfrfEt (G 93 /
phenomena L
(4) Windy conditions fr=fefaa zmr—vn 1 ga foe *W'f 1Y, s
; ectly : FicTH I
ing pairs correctly ; i
58. Ma:;hgthe fj]low £ G A sTEe—— 1 F.ﬂ"l.ma
LTI S e e ‘-ﬂfﬁﬁ'gﬁ
A Ozn:'le layer I. Troposphere B. Tfsm !'-"T"'I ) IL : :
B. Radio transmission  II. Exesphere C. oy dett geapd I GHAT
| . Weather phenomenon 111, Stratosphere D, 9dat da1g V. ol 4 ﬂ”gf
l| D. Thin air IV, Thermosphere w81 faweT =1 =57 Fifso
i Choose the correct option : (1) A-II, B-IIL, C-IV, D-1
I. (1) A-II, B-TII, C-IV, D-1 '-tﬁi A-I, B-11, C-III, L)-_IV
l : (2) A-L B-II, C-TI1, D-TV “(3) A-IV, B-1, C-II, D- ll{
' I, B-IV, C-I, D-I :
(3) A-IV, B-I, C-II, D-III (4) A-ll 3 it 3
' (4) 'A-IIL, B-IV, C-I, D-IT k/‘WF‘EE wm, T R S
' 59. Guif Stream is a warm ocean current because
it (1) wyaqwuaﬁrmaa?ﬁ%

= | 2) vty (yft % 99) & w B B

(1) moves from poles to equator (2} ey
(2) gets heated from underground (3) T 9 % wET (i) g T BTl &
. (3) gets heated by hot springs (4) aﬂquﬁ'@'[ % Fae 3 E-:IT-ﬁ %

(4] originates near the equator ﬁ{/ Freffas '*’T‘T?ﬂ 1 faem Fifse .

Il 60. Match the following pairs : F1 & YHT &83/53%

| Types of Farming Areas/Regions
A, THEEG L. -5k [ 25
! A. Shifting I. Semi-arid and ﬁ Sk R
| cultivation arid regions 9%7[ _ .
B. Commercial II. Thickly populated B. s TR R S 9 4
grain farming areas HATS ?ﬁ'{
€. Intensive IIT. Thickly forested ﬁaﬁ :
subsistence areas ©. T ?ﬁi U1 #od a7 ot &
agriculture D. JearEt q3=m V. sfiemen H1H % B2
D. Nomadic IV, Temperate Hal foehey 1 w9 fifs |
o herding Grasslands (1) AT B C-IV, D.I11
oose the correct option : i S
{1" AI E_‘H C W D III (Z2) _A.-]_]I. B—J\-", (_,—11, D—f
(2) -I[I B-1V, C-II, D-1 (3) A, B-III, C-I, D-IV
(3) A, B I, C-1, D-1v (4) AV, B-I, C-III, DI

4) A-IV, B-1, C-HI, D-11

61. Choose the false Statement from the follow; ﬁlti%‘fﬁﬂ'ﬂ e o ¢ i
: : followin HYET I T 'Q]a:m:ﬁ’ o r s
stalements on EIlErg\. HE‘:UUT[‘E.‘: &\_// m ) a—q-;l. zﬁif—_ru e i

(1) Hlljhdﬂ-« causes greenhouse effect. [11 I H, :“ [EEL R 1 9 o ”E“ %
(2) Solar energy is renewable energy. (2) HR Fwi FATH 5 el 3 |
(3) Tidal energy is exhaustible. (3) I Fo TErey At 2 |

(4) Wind energy is non-polluting, (4) 999 Fai W‘ﬂ?ﬁﬁ 21
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Ying 1. “30s of ¢
- ‘-".‘Ir ﬁl]d bulk‘v EOUEIH’

?Tthe tpe of Tesoureq -
order to save S t-‘-:::f we should use
n-renewable resoy I'-rc e:rﬂnmﬂnt. iT
tenewable resoureq,
an made resﬂul"{:eg

ofic resourceg

5t} : (
o select doll i q-cpcheh 29K
aﬁm Most of the Students picked up
ng colourfy) clothes, head geiﬂ' and
postures. What does this hehaviour

P11

ransport is g2/ Fr=ifefigs § | Fmawm &1 FE-E @y s

Hourfl T W2 STET A AEE e @R F
R o

vg g, fiy W g o oA ISCEA A

te ? a7
Discrimination ﬂ@,ﬁm?ﬁ l ‘qﬁ e I LS 27
otype () W
essi (2)
(3)
: 4) TEEE
judiced towards someone implies : , ﬁﬁﬁ % gfa tﬁﬂﬁ A 1 7Y B
dge them negatively a 3 ﬁqﬂ[ﬂﬁi w9 § o6 |
lo consider them superior. g ﬁm{%ﬁa) o iR
grespect those who are different. C. ) 0T P 8 e e A
iscriminate against members of a D . 'E‘LE# e 3 fang B H |
e correct option Tﬂ A CaﬂI D
: 2) B,CSWD
D (3) _ﬂg%,c CD
Can (4) AB
' frefataa famed =1
55 i tements and choose the | 66 1 afen a2 H‘a"'{
e following sta 5 = HifAT ;
mn : 3rEe (A) . !
4) - : - fafqumati 6
L sulfils the needs and demands aef megﬁﬁm% |
NS e dia. [ ohl Jici-
] diversities in In 7% (R) :
g FR 1E ],EV'B]S (}f guverﬂaﬁf:ﬁ i]l Erb" iQT ﬁ m %i H@a m (ﬁ-{) mﬁa
es multip F 2 |

t;ue; but (R) 18 false. s
8A) and (R) are WY&
ﬁlfmrrect expla.natwn of (A).
ﬁlsé, but (R) 18 true.

(A) and (R) are ¢

1) (AEEE, TR |
2) @ e (R) 2H1 7 8, T (R), (A) F

Hal AT

[ _ |
3 (A)TEE 2, TG R)TA R | )
((4) (A) 3T (R) F1 9 3 e (R), (A) 1 &
: |

IR 7

i
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e
1/E (36) : e
: fferfiga o # e |6 | e 0 Eac L e S Ul
67. Which of the following incidents are identilied & J Ia:ﬁ{ﬁ }JI H rﬁ-'-[ (ST e
as violative of ‘The Scheduled Castes and the :-frﬁi fqﬂqg‘-%ﬁzi' (Ei:ﬁ 3 i!‘:‘%ﬁl it T
ic?e?:ét;dl Tribes (Prevention of Atrocities) o ﬂi'ilﬂall. H%E;;:m S Eﬂﬁm sifa =
a (—l .1 " o Ll ) = - I.T ',m : I ;
A Violence by ‘upper caste’ people against S S-S sy W G
Scheduled Caste people. ; B. 3@% B Hﬁgﬂ‘% o e T |
‘B. Forcing a member of a Scheduled Caste 3T1‘i EEEE A e
community to eat obnoxious substance. ¢. T-FTeE Aol Eﬂr@qlhdﬂ
. Allowing non-tribal timber merchants to iy < 21 <l AN - S s
exploit tribal land. p. gfaa wfq @A qeH
D. Marrying a member of Scheduled Caste HET |
community. we Bwe #1 w FIfH
Choose the correct option ! (1) A B3WD
(1) A,BandD @ A C3TD
(2) A, CandD @ A B.Caﬁ".D
(3) A,B,CandD \ A B3NC
(4) A,BandC

68. “The Mid-day meal scheme has helped reduce

69.

caste preji‘.'ld;ices among students and promoted”
social jusﬁce‘.” Explain the statement by

ch‘waing.themr;ﬁdt t?.pt:ii}n. | N neaR o aﬁmﬁ-ﬂﬁ = B | ‘
A. Children of ali..castes eat together. B S H afe H‘%ﬂ'l’aﬂ = T YHH
B. In many places, Dalit women are 3 e %HEHI@T ';'PTI % I
employed to cook meals. Ui A 3 e =Ty
C. Enrolment of poor children'in schools has . EIT-.SE WH% '1 %) e I
increased many times. PorRLED 5 !
D. Reduced the dropout rates in schools. gm .E o H o R
3?“?‘; b (1) AB3RD
(2} A/C angig (3) A,B,C 3D
‘:}' :, E’ 3 ;’f”' (4) A B3O
o 69,/ frafofed § & +93 waum wrdw =t
ich among the following provisions ensures e ) Tagar gt L
independence of Indian Judicial system ? ER_R % ? )
A, The legislature is not involved in the \./A/F =it ﬁ'ﬂﬁﬁ £l Hﬁﬁl’i o e
Pprocess of appointment of judges ST e ﬁlﬂ %
g. Em;d tenure of judges ' B. =i = fifeag EapEact
. Farliament cannot discuss the conduct of C. =i % I :
: e | Gl A= 61 HEE == 48
. The President administers fh_e_ oath to the D W" 2 ]
Chief Justice of Supreme Court : Wﬁl:ﬁamm Efﬁ% F HS EmHTsr &) 999
Chaose the correct option : T ' :
(1) A,BandD ! foses 1 o Hift
(2) A CandD ) A B3MD
(3 A,B,CandD @) A CcsmD
(4) A, BandC (3) AB,C3mD




70.

‘Tl-

‘The work performed by a home ST EAE
anno ticed and unpaid as J:::::;;?::rll“lw l‘:)‘!kif-
official work performed by an office ;;r_r:ing Indy
who gets salary and respect. Examine the
gible reason behind this ¥ i

(1) Overvaluation of official work

(2) Less time taken for household work

(3) Patriarchal set-up of Indian society

(4) Devaluation of household work

The Supreme Court has interpreted Right to

food, Right to privacy and Right to
llution-free waterand air under the ambit

of which Fundamental Right granted to

(37

——————— =

= : P-lE
70./‘;' 31_ [i'—]‘fﬂ - EE ﬂTr:h o R 394 i e
v/ e 2 am fonf siffes Sed w6 e
i E”'('l l'{f?"f'-‘ﬂ G LA 'i‘,{mﬂm = m‘ ‘.F;.’-"'I'!
HER Al B | THE W % HMEE S AR =i
it . r

(1) -‘-ﬁﬁﬁﬁﬁl FH H Al

(2) HE HH fern =y Tag =T
(@ wdE #AE R g s
(4) SEeL = = HATHAH

71. , W FmfER w3 SgEd e i sAfuwn B
\_/ uitfa & aidda wete AEeEm 3 AR F

Indian citizens ?

stftshie, ftan & sAfaei 491 WA 9 U
T % st e H R 7

(1) Article 19
(2) Article 21 (1) F=9a 19
(8) Article 14 (2) =29 21
(4) Article 20 Y (3) =9 14
“Indian  secularism is  different ° from (4) r=oa 20
secularism practised in the USA.” Identify the 12} “yrdty eiferar, ufeh adfea | fim
correct options from below which identify the 2”2 % d=F Y2} 1 TEEE A wE
| differences between the two. - faeedt BAT SF |
A. In USA, neither the state nor religion can A it H, U o
- interfere in each other's matters. y E}’ﬂ' . q’ e 7 ZEAd TE w5 T B
B. In the Indian Constitution, there 1s a ﬁﬂiﬂﬁﬁﬂ. TR 3 BRI :
provision for Protection of Minority B. H IeTHEEH H s
Rights. ) FUAT T T 2 |
C. Both USA and India maintain strict . it R WG IH @ TS & AT
separation between state affairs and 3T s AT H L ‘{W CIcs
religious affairs. TEd 2 |
D. In USA, state can allow religious reforms, D, s 13'[, gid & faul|, T Biitea
unlike India. HYRI 2 gHdl 2 |
Choose the correct option : w# foseg @1 =3q it :
(1) BandC (1) B3RC
(2 AandC (2) ARC
(3) CandD 7/?3) i g
(4) Aand B (4) A< . =
The term “All persons are equal before theg £t ;ﬁfﬁaﬁﬁ @ g H EH & g
. o ardless of their A Efi JETE H e S

FA T 9T FAE

A. that all the citizens r;g o o
cio- omic status have to © ey the : HHHE

© o B, R
same law. s ] ;IEI A f

B. no person can be discriminated against, oAy, M, wd S J B
in the eyes of the law, on the grounds of ST R e ) TR S wed
racelcolour, religion, caste or gender C.  EHEAT FEE & T |

C. inequalities cease 10 exist. _ ! D 7 T iRl % for Froqe TEER a9l

D. it ensures fair opportunitics g s e 8 T Sfed gHTEd T 2 |
dignity for all the citizens it faremea 1 A I

Choose the correct option : (1) A.B3MD

(2) B,CandD (3) A,B,C #H D

(3) A,B,CandD (4) A;BzﬂT.C

(40 A,BandC
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76.

P-IVE

(38)

74. Which of the following ‘pairs are correctly | 74
matched ? :
I /s

Work Forms of Employment
A. Mason — Daily wage labourers
B. Domestic worker — Casual workers
C. Vegetable vendor — Self-employed
D. Supervisor in — Businesspersons

a shop
Choose the correct option :
(1) A BandD
(2) A,BandC
(3) A ,CandD
(4) AandB

The cities have witnessed increasing

rural-urban migration which has resulted in

growth of slum areas near the industrial sites.

The reasons for this type of migration are :

A. Deterioration in living standards in
urban-areas '

B. Disruption of rural labour market

C. Decreased agricultural productivity
D. Increased skilled workforce in rural areas
Choose the correct option :
(1) A,BandD

(2) A,CandD

(3) A,B,CandD

(4) BandC

Which among the following services can be |me

included in the ‘Public Services’ ? ~

A. Police Services

B. Judicial Services

(. Educational Services
D. Construction Services
Choose the correct option :
(1) A BandD
and D

“and D

B.C

\&

(8) A B,

{) A, Band C

a\.
, =
ﬂﬁﬁﬁqi&gmqﬁgﬁ%aﬁu
1
ﬁmmrr%
Al tmfhﬁﬁ ok G mﬂ;ﬁ?
B. aiaﬁmvm e
aﬁfﬁaﬁmaﬂwﬁrﬁm;
(1) A,B3ND
(2) A,/B3lC
(3) A, C3IND
(4) AdnrB

ﬁﬂﬁ%ﬁ%ﬁﬂﬂmg

75
\ﬁ!g:ﬂ'ﬁﬁq U I e S e =

T &l A 3l Tl R | e v
& o &L
A &l &3t 4 fteq F = i sty
B. Uv FHHTH SR # e
C. tﬁf’rgéaﬁﬁwm
D. UMWm & W " WGl B8 B FHaw f

T
el fawes =1 999 fifaw
(1) A B3RD

(2) A, C3RD

(3) A B,C3WD

(4) B3IMC
fefafea § & fF Sasi = aEEtE gae
o gfeifea v sn gsa 2 2

A, gfers Fand

B, =iy Tam

c. it g

D. famio T&m

T8 fasey &1 994 FIC

(1) A BHRD

(2) B,C3MWD

(3) A B,C3D

(4) A B3RC
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. °§'§?§“§f the Bill a5 Indians 3 fafew wvwn &t fam waw W &
Of British op European HheHT e = we z Ao
-xheammghte B. 3 A 38 fawt w1 fa e witfe o
and Indian judge, quaht;. between British ardm Wt fefewr w gidm et @

heHT Fell HFA o |
J{he;zll:as racist towards Ingjan pebple. c. faa 3 3 o andly e F =
| 3 - e pEo T T H0 6w
A | Sl gt
- TG ol |
i foer 1 o hif
(1) @ad C
the following  statements with gi aﬁﬁagtl?

1o post-independence India ;

(A): ,"'m%mﬁﬁmﬁﬁaﬁl%ﬁmﬁaﬁ
constitutional recognition of equalsm' i/ i .
law, some Indians are more equal than 5 EEW(AJ -

FHTO HfauE # 9 H Teeh! qOET A=A
2, e om fooh § B wwdw o ®

set ou
e ﬁ,t be:niulﬁi Et:l Indian Constitution g?;;?}i Tmmm% |
1005 e correct option : Wity wfage # a7 fre mu smeet @ wn snf
- (1) Both (A) and (R) are true and (R) is the| 7% SR 78 %L 910 # |
‘, ~ correct reason for (A). T faehes #1 =R SHifaw
(A) is false, but (R) is true. ' (1) %ﬁt (R) 1w ﬁ I (R), (A) 1 Hel

«fﬁ} Both (A) and (R) are true, but (R) is not
the correct reason for (A). @) @W’% T (R)HA B |
1'@5 vt () is falte (3 @ 3 (R) 21 H@ %, g (R), (A) F
are two statements A and B in the (A)7 vt:g'{m'naa |
ntext of Khilafat Movement. '—;‘If\‘g 3 S A 3R B, faeTed Ader % wad
|

i Im -::.920 the Brltlﬂh lmPOSEd a harsh ’ - . / y
treaty on the Turkish Sultan (Khalifa). A 1920 ®, 31 4 TH % geaw (@efie)

1 Muslims were keen that the . a@m“ﬁ: !ﬁq_tﬁ i |

a was not allowed to retain control B. YNdE HHEWH dEd o & g semA

uslim sacred places in the . 9w 4§ fom ofam HFE‘TFI W'Fﬁ L

é-Ottuman empﬂe TeH F1 e 98 2 9 @ |
. :but_,-BIsfalse:-. (1) ATH %91:;@31133%1
A and B are false. (2) A3 BIH TEA # |

. but B is true. (3) ATEW 3, WA BHA |

deB are true. 4) A3 BIH AR
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82,
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PIUE . the
80. Read the following
correct option
Assertion (A) !
_As the indigo tr
and officials of t
in indigo production.
Reason (R) :
Attracted by the prospect of high profits,
aumerous Scotsmen and Englishmen came to
India and becanie planters.
(1) (A)istrue, but (R) is false.
(2) Both (A) and (R) are true, but (R} is
niot the correct explanation of (A,
(A) is false, but (R) is true.
Both (A) and (R) are true and (R) is the

correct explanation of (A).

siatements and choose

ade grew, commercial agents
he Company began investing

3)
(4]

Which of the following statements are true
about Buddha's teachings ?

A.  Our sufferings and unhappiness are a
result of our past births. :

Our sufferings and unhappiness are a
result of our cravings and desires.

All believers had to accept and follow the
teachings of Buddha for a happy life.
Choose the correct option :

(1) Band C

(2) AandC

(3) A,BandC

(4) AandB

B.
C.

The increased demand for Indian textiles in
European markets in the sixteenth and
seventeenth centuries led to the following)
changes for Indian weavers :

A. Expanding ecrafts of spinning, bleaching

and dyeing

B. Increased independence in working of
craftspersons

C. Variety in designs and increased

ereativity of craftspersons

D. Working on a new system of advance
payments from agents

Choose the correct option :

(1) Aand D
(2) BandC
(3) Cand D
(4) AandB

82,
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e
<hl

W FET I qﬁt{ﬂm Hﬁ e
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qen A o Har o

T 1 |
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ids °§ ¥Rd A #HE

# AN ERicHE AN

anTA-Hifee® 59 M |

(1) (A)ED B, T (R) T 2 | 3

@) (A) 3R (R) 21 g8 ], 959 (R), (A) G5
el = FE R |

(A) T B, T (R) EE & |

(A) 37 (R) 3T TA & 991 (R), (A) 1 HE
=TT # | Jea
frofafas & @ FA8 Fod 9 % ST b
Hey H Hel & ? .
A R OHR 3N gE wR fed I OF

(3)
(4)

gz # | i
B. wﬁwaﬂrgasnﬂammaﬁ 3
Feorall 1 SR H ¢ | "

C. UH gyEd W & fou §g % o
AT R ITH ITSH Bl HEAT 3R

YT &A1 ATIVEF o7 |

(1) B3 C

2) A3MRC

(3) A Ba3RC

) A ¥R B

GUSE TR e FCi P e A b

SRS TR R = = - e

ECERIR:| ﬁ;ﬂqﬁqm

A it N I
FT YT 31947 fomn I, e ofe

B. RusRi % ot # e 6 s

C. B & dR Rrewwn
mmﬁa@aﬂ

D. T dreret !

el fashey % s Hift

(1) A3ND

(2) B3t c

(8) ca3p

4) AIRB
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(41) P-11/K

Jyotirao Phule’s book of 1873 on the dismal | §
conditions of ‘lower’ castes was dedicated to @ <

/o’ ot 1 g o s g oy a0s
/ H s fopare amfda 2 .

(1) Nationalists of anti-colonial movement of
India.

(2} Bhakti singers.

{3) Anti-slavery activists of American Civil
War.

(4) Brahmo Samaj reformers.

Consider the following statements :

A. By the second half of the mnetcenthh\_/A

century, people from within the
non-Brahmin castes began organising
movements against caste discrimination
and demanded social equality and justice.

B. The Satnami Movement in Central India
was founded by Ghasidas who worked
among the leather workers and organised
a movement to improve their social
status.

Choose the correct option :

(1) A istrue, but B is false.

(2) Both A and B are true, but B is not an
example of A.

{3) Both A and B are false.

(4) Both A and B are true and B 1s an
example of A,

Who among the following reinterpreted verses |
from Quran to argue for women's education ?

(1) Begum Anis Qidwai

(2) Mumtaz Ali

(3) Hajara Beebi Ismail

(4) Begum Rokeya Sakhawat Hossain
We know very less about tribal groups in the
medieval period because :

(1) they did not keep written records so there
is less information.

(2) they were not living in areas where
medieval rulers ventured.

(3) they came into limelight only after the
British established their rule.

o S

(1) W & gufavEr-fEid s w
TegateA) 1 |

(2) WfeR a6 |

(3) smfeh TR 9@ § 7@ gan W fany 9

aﬁaﬂﬁaﬁﬁaﬂ?ﬂl

(4) FeEn "I J_T-_[EIII$ |

ﬁm%ﬁﬁmﬁmfaawﬁﬁu
EFILCl %zt w4 Tw, MR
et Wﬂ'lﬁr_-ﬂ’ﬂ AT dewrd &

figens oM@ IBH @ s mmifEs
HHMA1 3R A B’ A 70 SAiEeH]
1 g% il |

B. mwnmmﬁ{fsm
arfem o 6, SR 992 & s w0
Il & d= wm FE oE I q@nfaa
ﬁsmﬁhaﬁﬁamﬁmﬁmﬁuﬁwm
fequ sqiee o |
&t fawey &1 w7 Fifs
(1) AE R, T BT 2 |
(2) A 3R B gHi ®¢l &, T B, A 1 3gET
TET 2 |
(3) A BEHITE 8 |
(4) %ﬁﬂBaﬁﬂﬁ%ﬁnBTamm
|

g5, /ffafae & & feed w9 F1 smal 6
gqaf@naﬂ%mﬁﬁqﬁmmﬁ!ﬁﬁaﬂm
sifaser faern =nfze 2
(1)  amm s e
(2) WA A
(3) EAN il T
(4) WA FHAT TEEE BHA

86, WegwTEl W SSGE BUE A1 H W 9Ed FA
ST § T ;
(1) %%{%ﬁmﬁﬁ?ﬁtﬁgﬁgﬂﬁﬂﬁ

@) I3 AT H 6 T o FE ASHIEE

SMEh MY | - :
@) fafew wmed ¥ woifi @9 & W & @
=T T A

(4) they were isolated and lived in seclusion.




(42)
P-1I/R

“In the register of God's creation, since her

87.
account did not fall under the column of men,
how did she gain from all of her excellent
qualities 77 For whom was this passage
written in the thirteenth century ?
(1) Didda
(2) Raziyya
{3) Gautami
(4) Rudramadevi

B8. Which of the following statements is/are true

about technology used in the twelfth century 7

A.  Arches were constructed to transfer the
weight of the superstructure.

B. The centre of the arch was called the base

stone.
Choose the correct option :
(1) Only A
{2) Neither A nor B
(3) OnlyB

(4} Both A and B

(

[E] 8
[ 4

AT F @ #, IEE S HiE 0

87, ‘@ H
1 geht 1 A aqen, gafan gadt wEER wle

3 off 38 onfaw mfge w0 gan 27 W @
gt sravedt o fopmes ferg fomar mn o1 ?
fee

(1)
2y
(3) T
(4) HEHTEE]

%_/mmﬁmmﬁ'aﬁfﬁmiﬂn
7 frefafas § @ FH-a4 weA a8 28 ?

A HemEl #1 Fmim sfmEr % WR H

Tl A & fere feen s oan |
B. HEUE %1 Hed W HTGRISE Heeral 91 |
ge! fasFeq 1 = Hifa .
(1) ad A
(2) AdatARAE B
(3) had B
(4) AT B eH

89,/ Frerferfien # & #i-8 guamo Tue # Ao

89. In which of the following Palaeolithic sites, 3 3
were tools made of limestone found ? 8 5 o B 4 2
(1) Koldihwa @ wifcgE
(2) Inamgaon (2) ZATIE
(3) Brahmagiri (3)  Ffh
(4) Hunsgi (4) E—\Uﬁ
90. I'LT:heh one of the following is nof true for W%m R HEAYEl % fgfig wY
ajanapadas regarding t i F g2y 1 i o
B garding the collection of F T % T § wh TETR?
(1) EEH w2 GavEsi B f ST @
(1) Hun!ters and gatherers also had tg & £ i AL
provide forest produce to the Raja. U ST 1 &Il off |
@) There were taxes on goods that were @) =R ¥ wd 3= A e o
bought and sold, through trade. =TT ST 97 |
(3)

(3)

Usually tax on crops was fixed at . (half)
of what was produced. "

(4) Herders were expected to pay taxes in the

torm of animals and animal produce
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as
LANGUAGE - L




s PART IV
LAN GUAGE 1
ENGLISH
Read the example of what a le

94. 2
choose the strategy that matches the example
“1f T don’t know what something means, I look

arner does an(

Directions : Answer the following questions by

! ; - [

selecting the correct/most appropriate opiion.

A teacher showed a movie with the captions to it up.
Consulting reference materials

3 the
g ers in Class VI. The movie 18 based on o

learn !
one of the chapters in the textbook. The movie _ - s
with captions on will encourage : (92) - Using opportunities for practic
(1) listening strategies, active viewing, i*l[l'd (3) Confused state of min d
motivating the students to use authentic _
(4) Focusing on collocations

language material.

(2) active viewing and listening. : : .
A diagnostic test is used to assess :

(3) the students to watch more such movies. |95
(4) listening strategies by verbal clues and to (1) learners’ ability to summarise the main
appreciate the actions of actors, and to points in a text.
write a review, Tl . :
(2) learners’ ability to recognise their own
92. Read the following statements and choose the language mistakes.
correet option ! : I
Assertion (A) : (3) and rank learners in order of
A child in his early childhood stage uses more achievement.
bs th ionores i : :
:Lc:;-e : an nouns and ignores the grammar (4) learners’ strong and weak points in
Reason (B) : language.
They lack vocabulary range.
96. A proficiency test always assesses :

(1) (A)is true, but (R) is false.
(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(3) (A)is false, but (R) is true.

(1) the level of language that learﬁers have
reached, ‘

(2) the language that students have been

(4) Both (A) and (R) are true and (R) is the taught.
correct explanation of (A). (3) the multis i
, sensory learning experiences,
93. A child shares her language -classroom (4) the language of dail ; i
) r ge of daily conversation.

experiences with her mother and says that

sometimes we cover our eyes and the teacher
asks us to pick an object out of a bag. Then we [97- A teacher divided learners into groups, and

E}a;; to try to describe it. It's a really good way asked them to do a quiz about ‘elephants’
arI'll.
before reading a story about them. The

This comment shows the child’s preference of objective of the teacher is to

learning. Identify her preference, (1) generate interest in a topi

(1) Iremember language well when I move. (2) b
(2) I remember language well when T hear it. T
(3) Iremember language well when I copy it.
(4) Iremember language well when I see-it,_ (4) " test their memory

UM W e

(3) write a text review,




y students “braj
tudents "hramsturm ideas, organis
3 r 31'

dlt a-nd. revis
o) [ t—h 0 E : ’ :
this process reflect f ir work,” which skill

Reading skill
Speaking skill

- Writing skill

Listening skill

103.

e

Il

e following statemen .-
ey ts o

roc n_pt:inn; and chouae,_t.‘ls@?i 104.
on (A :
and writing skills help in f.:ntlcal

t explanation of (A).

(A)is false, but (R) is true:
) 18 true, but (R) is false.

ckills are best learnt :
challenging and

teacher focuses on one gkill at a

: are dealt with in 8B integrated

and

A teac

PI/E

_‘abi:f.;ﬁ:mge Clagsyg (45)
N YR :
dent, the U:*ac.h%' Ley hanm"? ‘Bl'-u.deut is|102, To assess whether gtudents have understood
. er ﬁhﬂuld, : this disruptive how to use the narcative aldll, a teacher
o ik alk to the 1. : ghould ask students Lo
i '{‘hlld y - ‘
oo the o ren to offer remedies. (1), share an incident  when they ‘were
depend on t} SEBt Students surprised.
depen 1€ Parents tq off; (2) circle the verbs and adjectives in the text.
l.,_ ] 2r. T . A -
report the behavigy, ¢ emedies. (3) correet the mistakes in fthe use of
the student to the deseribing words.

(4) read a story and answer

cqmprehenainn-baaed guestions.

her of Class VII 18 facilitating the
reading of books other than the prescribed
textbooks. She is promoting their :
(1) Intensive reading
(2) Shared reading
(3) Extanaive'_raading
(4) Guided reading
The principal asked the language teacher to
select the tgxthuuks and other resources for
the new session. While selecting them, which
of the following is not relevant ?

g at the primary level, one
(R) : (1) Adaptability of the books and resources
thinking is a sub-skill of reading and (@) Learning needs and Janguages known t0
b h (A) and (R) are troe, bub (R).i8 (8) Levelof the students
ot the correct explanation of (A). (4) Conceptual complexity and density of
LT - material
2 (A) and (R) are true and (R) 18 the .
105. The teacher developed the eriteria to monitor

the use of language materials by learners.
Which criteria are most important and helpful
use of material ?

in monitoring the

(1) Present, prepare and practice the
material

(2) Usability, repetition and production  of
‘utterances

(3) Qbseﬁatinn, feedback gessions and
written reports

(4) Checkhist, acsumptions and learning
outcomes
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| PLIUE

Directions Read th
answer the questions ( Q. Nos.
by selecting the correctimost appmpriaff op

i and
e extract guen below
106 to 111) that follow
tiof.

1 Love came to Flora asking for a flower
That would of flowers be undisputed gueen,

! The lilv and the rose, long, long had been

f Rivals for that high honor. Bards of power

Had sung their claims. ‘The rose can never
tower

Like the pale lily with her Juno mien’ —

‘But is the lily lovelier ?° Thus between

Flower-factions rang the strife in Psyche’s
hower.

‘Give me a flower delicious as the rose

And stately as the lily in her pride’ —

But of what colour 7 — ‘Rose-red’, Love first
chose,

10

' Then prayed, ‘Na, lily-white — or, both provide;’
I And Flora gave the lotus, ‘rose-red’ dyed,
| And ‘lily-white', the queenliest flower that
blows.
Which of the f[ollowing atiributes is not
associated with the lily ?
(1} The colour red
(2) Stateliness
(3) The colour pale white
| (4] Loveliness
107. Read the following statements and choose the
correct option :
Assertion (A) :
The poets did not declare the lily as the queen
of flowers.
Reason (R) :
! The lily was pale coloured,
(1) (A} is true, but (R) iz not the only reason
for it.
(Z) (A)1is not true, (R) is partially true,
(3) Both (A) and (R) are true.
(4) Both (A) and (R) are not true,
108, Psyche's garden echo i
dispute bftween the Hsgp‘:g};r;}ﬁ :suunds T
(1) Love and bards of power.
(2) the lotus and the rose.
(3) all the 3 flowers — rose, lotus and lily
(4) the lily and the rose. B

109. Identify the rhyme scheme in lines 1 - ¢
{1) abab .
(2) aabb
(3) abba
(4) abeh

108.

jo devices
jdentiy the poetic de
e
Hy Line 10-
(1) :
(2)
(3

(4)

metaphor
tion, simile

he word analogy

Complete b R

delicious - inviting :
(1) conflict
(2) melody
(3) adventure
(4) discussion

111.

the passage

: ; : Read
Directions G o 112

answer the questions :
by selecting the correct/mos

1
job is too hard to ac
helieve tha

that he can succeed.

2
they made at college. They may

A majority of people think tha ir
hieve, too competitive ang

t it is all a matter of laek. All this is try

.

Line

mn

given below gy
fo 120) that folly,

apprepriate option

L the-l]' ii]"ll,wl-l

actually, but why should that stop anyone fron
trving to get the job they really want 7 A really
determined person will always succeed and, in many
ways, will need other people to give up trying

Many job seekers feel limited by the choices

think that becaus:

they studied marketing, all they can ever do is work
in marketing. All the evidence shows that, in fac
employers are less interested in acquired knowledgs
tl?an the ability to think and learn. It 18 also very
f:hfﬁcu]t to predict the needs of society, For ex.’-impll..
if a person chose to study dentistry because ther
was a lack of dentists when he wa's in hi h- s'chw-‘.
that may not be the case when he graduim-:- '["-....
needs ﬂ"f employers and the ecnnniﬁy can i r
very quickly, and often unexpectedly i
3 Of course, is
e;:}nt}mif:ally. it is hard to fin
alter universj it i =
might tae Setr)\;r:_'llxs l-ifht;i:r? means impossible. I
graduatiug, but there is work oger £ e e
pif’ce of advice ig never tg e geally h
rejection becayge there will Sl
Probably be 4 Jot vou

can do to achieve your dream j

R B N T

ﬂb’ whﬂt&VEr it 15. You

A
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e

e

115. What advice

fﬂt never give up. Be prepared to work hard and
for long hours without necessarily climbing up the
career ladder. There is a lot to be said for learning
your trade from the bottom up. At the start, there
will probably be little money, but it will be worth it
in the end. The best jobs are not supposed to be
easy — that is what makes them challenging. And if
you like a challenge, just keep your head down and
go for it.

112. Read the following sentences :

A. Determined people succeed occasionally.

B. Few people believe that getting their
dream job is a matter of luck.

C. A majority of the people think that dream
jobs are highly competitive.

(1) B and C are incorrect, A is correct.

(2) A and B are incorrect, C is correct.

(3) A and B are correct, C is incorrect.

(4) Aand C are incorrect, B is correct.

113. Why is it not easy to predict the needs of
society ?

(1) Job seekers don't take appropriate career
decisions.

(2) Employers only seck graduates who are
knowledgeable.

(3) The needs of the employers and economy
are changing at a fast pace.

(4) Because there is a lack of dentists in the

society.

14. A job seeker who likes challenges should keep
his head down. This means he should

(1)
(2)
(3)
(4)

walk away in anger

bow down his head

avoid troublesome situations

confront challenging situations

does the writer not give
employment seekers in para 3

(1) To be dejected by rejection

(2) To be prepared for long hours of work

(3) To never give up the search for a dream
job

( 47)

P-1/E
116. Identify the underlined words (parts of speech)
in the following sentence :

A majority of people think that their dream
job is too hard to achieve.

(1)
(2)
(3)
(4)

noun, adjective
adjective, noun
adverb, noun
noun, adverb

Job seekers feel limited by the choices they
made at college.

The underlined phrase means :

(1) to feel dejected

(2) to feel constrained

(3) to feel limitless

(4) to feel confused

117.

Read the following statements and choose the
correct option :

Assertion (A) !

It is quite easy to get a job immediately after
graduating from a university.
Reason (R):

The economic scenario
generation is difficult.

118.

regarding  job

(1) (A) does not justify (R).
(2) Both (A) and (R) are incorrect.
(3) (A)isincorrect, but (R) is correct.
(4) Both (A) and (R) are correct.
119. ‘Learning the trade from the bottom up’
means '
(1) from the lowest to the highest in
hierarchy.
(2) trading places with others.
(3) from your colleagues.
(4) inter-departmental learning.
120. Complete the word analogy :
expectedly : unexpectedly :: rejection : 2
(1) eviction
{2) probation
(3) dejection
(4) selection

(@)

To be patient in the search for a job
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P-1VE PART V
LANGUAGE II
ENGLISH = -
- : Answer the following quesn:an.s by | 125. W'h.ic_l: nf the following supports
slz;:;f::;:’ ‘:'"’mm‘ R {ﬂ CFlv;:'l-n.ing learners to summarise the text
121, Which one of the following is not a classroom T;?: Ping & srediciin iy

resource for learners in teaching-learning of

language ?
(1) Classroom library

(2) Reading corner
(3) Classroom procedures

WA Word wall

122, Read the fol]uwiqg statements and choose the
correct option :
Assertion (A) : :
A plan for individualised learning must be
created by a language teacher.
Reason (R) :
There is diversity in learners in
of new languages.
(1) (A)is true, but (R) is false.
(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A),
(A) is false, but (R) is true.
Both (A) and (R) are true and (R) is the
correct explanation of (A).

123. In which method does the learners’ first
language play a central role in teaching ?

(17 Communicative language teaching
method :

(2) Grammar-TransEatinn method
(8) Task-based learni ng
(4)  Direct method

the learning

(3)
4y

124. Chetan’s first language was Bhojpuri. Since
arriving in Tamil Nadu, he no longer speaks
Bhojpuri and only speaks English with the
natives. When the new second language
replaces the native language, this is an
example of :

(1) ~Code-mixing

\w/ Subtractive bilingualism
(3)  Code-switching

(4) Bilingualism

(3) Teaching grammatieal structures
(4) Using paraphrasing tasks

: dial
126. Which of the following is true about remedia

teaching ? :
( Providing support to improve
performance

(2) Showing sympathy to backward students

(3) Providing extra marks to improve
performance
(4) Giving extra attention to gifted children

127. Read the following statements and choose the
_correct option :
Assertion (A) :
English is an associate official language in
India,

Reason (R) :

English is taught as g foreign language in
Indian schools,

(1) (A)is true, but (R) is false,

1 (2) Both (A) ang (R) are true, but (R) is
not the correct explanation of (A).

(3) ( is false, but (R) is true.
(4)~Both (A) and (R) are true

correct explanation of (A).

and (R) is the

128. Which one of the foIIowing
characteristic of a language 9

(1) Language is symbolic.
(2) Language is statie,
1.'31/A Language is social,

(4) Language is Systematie,

I8 not a
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gorrect option ; Ments and choose the

129. Read the '””'”-'r':ing Stata
- Assertion (A):

8 Pf’ﬂmp-ting ; SI-U(]&]”_\: to
A Imgwledge 15 5]]“}'-”..{“”[ ¢ recall Pl'l‘.‘\r*'lﬂl.l.‘i
¢ Reason (R) ; A

Recalling the

new knowledge,

i) (A) is true, byt (R)is fal

. alge,

@) _BO_:]]&{IAI and (R) ape true, but (R) is
m | € CoTrree] eXplanation of (A)

(@ (A)isfalse, but (R) i true |

.[} Both (A) and (R) are try J
h correct explanation nf'[A}.E and (Bi S

130. A teacher of Class vy asked her learners to

produce a l_eaﬂet about Saving energy at home
as an assignment. This task will cater to
which feature of language 7

W1/ Question forms

(2) Positive imperatives
(3) Comparative

(4) The past tense

131. While planning a lesson, one of the objectives
is to enable learners to produce typical
business communication with customers, This
objective matches with one of the types of text
genres listed below :

1) Report
(2) Description
(3) Article
(4) Letter

1-33.* A teacher asked students to look at the four
musical instruments in the picture, and
discuss why they are used in different musical
‘contexts. Choose the cognitive skill that

?ﬂﬁﬂua activity :
W Analyzing
(2) Composing
3) Reasoning
4) Ima gining
133. Whﬁimunolmgual speakers move from formal
to informal modes of speech within the same
fP;kﬂn'ﬂ?gestured idea, they are engaging in :

P-1I/E

134. Children’s informal interactions, friendships
and relationships with others in their
community are based on their use of which

form of language ?
H /"J .
L“/‘LT Accommodation
(2) Assimilation
(3) ‘Language socialization

(4) Enculturation

135. In the case of wvocabulary use, grammar
provides a pathway for learners to :

1) ~€ombine lexical items into meaningful
and communicative expressions.

(2) re-tell listening inputs into oral output.

(3) draft formal pieces of writing in higher
classes.

(4) speak in formal situations with greater
aceuracy and confidence.

Directions : Read the passage given below and
arnswer the questions (. Nos. 136 to 142) that follow
by selecting the correct/most appropriate option.

“Let’s go! We are going to be late!” shouted
Glen gleefully as he tightened his schoolbag on his
back. Three other faces broke into a smile upon
hearing his words. They could not wait to soak their
feet in the water and perhaps catch a small fish or

v = 'L—_——-—-'-_.- ”
| two, just for kicks. They were clearly not heading
__‘_____.-—-""-_- . =

towards where they should be — school. The cold
imposing white building _became %@i_é_;___ and
smaller, Their little hearts grew braver by the

minute, They knew exactly where to go.
'_‘___.____———-_q

e

The canal was huge but that morning, there

was only a small lazy stream of dirty water in it.
__‘_"_._._._.--'—'_| —

With great gusto, Glen, the leader of the pack,
hoisted himself over the railings and climbed down
the huge monsoon drain. In the process, he got
himself ver_-,rL?IFt}_.'Bﬁt‘the excitement of truancy
was too great to be bothered by some loose buttons

and tears in his shirt.




(BB}

P-1/E
In a fraction of seconds,
him. Soon, cereams and

the other boys joined
laughter * of delight
rated into the air but no one else could hear
a canal that was far from
fish darting to and fro

reverbe
them for they had chosen
anyone, Glen spied many tiny

in the murky water. They had no
worthless but nevertheless,

economical value

and were practically the

thrill of catching them bare-handed was priceless.
an extra fat one. He plunged his
only to have it slip between the

Glen raced after
hands to grab it
cracks of his fingers.

13€. How many boys had missed school to go
fishing to the canal that day ?

(1) Four

(2) Five

(3) Three

(4) Two
-

\M‘he word ‘lazy’ in the phrase ‘a small lazy
stream of dirty water’ means :
(1) tired
(2) slow
(3) lethargic
{4) murky

\'I'.ig. Why did the boys’ hearts grow braver by the
minute ?
(1) They were excited to have migsed school.
(2) They knew exactly where they were

headed. :

(3) They knew that their teachers couldn’t
find them.

(4) They could no longer see the school
building.

o’

139. ere should the boys have been at that time
of the day ?

(1) At home

(2) At school

(3) Playing with friends
(4) By the canal

- c—enpae M

]40./ Arrange these sentences as per the sequence
in which they occur in the passage |

Glen climbed down the huge MOnEoon

Al
drain,
B. Soon, his friends joined Glen at the (:am_ai,
¢. Glen climbed over the railings with
excitement.
D. The boys caught fish in the dirty water.
1) C—>A—>B—D
2y D>C—oBA
(3) BoA— D—C
4 A—C— D—=B

Identify the underlined words (parts of speech)
in the sentence given below :

Glen spied many tiny fish darting
the murky water.

(1) adverb, adjective

(2) verb, noun

~(# verb, adjective

(4) adverb, noun

to and fro in

Complete the word analogy :
imposing : impressive :; truaney : ?
(1) foolhardiness

(2) absenteeism

(3) lying

(4) play-acting

Directions : Read the passage given below and
answer the questions (Q. Nos. 143 to 150) that follow
by selecting the eorrect/most appropriate option.

\_/R/each Out! is an organization that runs
week-long summer camps, designed to give young
people the skills to be the leaders of the future. The
camps help to create confident ;3_1;_1;& peophl‘E;whn
wish to improve not only themselves, but the world
around them. Varying in age from 12 to 17 young
people come to attend the camps in md the
USA from across the world. They spend their time
learning ]w, considering and
discussing important issues such as pollution, and
health, and helping in the local community. They
also meet many other people who have the same -

interests and  beliefs and frequently make
friendships that will last a lifetime.
o, SR -_________.---"'




ere 1S N0 average day e
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_to allow room fur exeiting events as th
Wg\rar, CAMP members greneralls - t 3
d, once they've eaten b oty sta
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select from various activities that
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ime at camp, there is a day known

_. _ms 15 when small groups go out
ETDUP 1Eader to wurk w‘:ﬂ’l

the camp and
which is handed

etter pi'aéé- &

e’k~14mg summer

| camps are we
allaﬂmgsihe

nrgmzedﬁ
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e

:Enendahipﬂ
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5 5
P
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world

P-T/E

i?./ To prepare themselves and get warmed up for

the busy day ahead, the young people :
(1) getupasearly as 7 am.

(2)
(3) partake in some outdoor games.

eat a heavy broakfast,

(4) attend workshops.

In the afternocon, which of the following
activities can camp members not select 7

(1) Basketball and songwriting

(2) Yoga and public speaking

(3) Dancing and yoga

(4) Basketball and dancing

. The camps are justifiably named ‘Reach Out!
because : '

(1) members are encouraged to collaborate
with ne:.ghbnu rhood organizations.

young people find it exciting to reach the
c&mpmg site.

‘they are action packed throughout the

day.
young people work under group leaders.

@)
(3)

4

% Bﬂ‘the seven days at the camp are :

(1) planned i m~ a way to collaborate with loeal
qrganm&imns

{2*} acﬁmn da:.rs

| (3 tiring and average.

(4) ot the same routine-wise.

Idennfy the underlined words (parts of speech)

m the sentence given below :
ggg meet many other

ther same interests and beliefs.

(13 adverb, noun

adverb, adaectwe

conjunction, verb

preposition, noun

people who have

d
5 .-Gamplet.e the word analogy
/" confident ; shy :: AVerage : ?
(1) similar

(2) below par

(3) extraordinary

(4) understated
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